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The following table presents the data on the number of vehicles of three different types (A, B
and C) produced by a company during seven different years from 2012 to 2018. Based on the
data in the table, answer the questions 1- 5 :

Year — wise production of three types of vehicles

Vehic
Yﬁar A - Type | B - Type | C - Type
2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 30000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000
Sub questions

Question Number : 1 Question Id : 6154758440 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The following table presents the data on the number of vehicles of three different tvpes (A. B
and C) produced by a company during seven different vears from 2012 to 2018. Based on the
data 1n the table. answer the questions 1- 5 :

Year — wise production of three tvpes of vehicles

Vehicle
Year A - Type B - Type C - Type
v
2012 2000 20000 15000
2013 15.000 10000 22500
2014 10.000 15000 30000
2015 17.500 15000 23000
2016 25.000 20.000 15000
2017 13.000 25.000 20000
2018 30,000 32.000 25000

Options:

61547532901, 1
61547532902, 2
615475329032 2
E1547522904 4

Question Number : 2 Question Id : 6154758441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The number of A — type vehicles produced in the year 2014 was what percent (%) of the
number of C-type vehicles produced in the year 20167

(1) ~ 33.33 % (2) ~66.67%
3) 50% 4 15%
Options:

E15475325905. 1
B1547532906. 2
61547532907, 3
615475323908, 4

Question Number : 3 Question Id : 6154758442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In how many years was the production of A — type vehicles less than its average production
over the given years?

(1) 2 (2) 4
(3) 3 4 1
Options:

61547532909, 1
615475223910, 2
E1547532911. 3
E1547532912. 4

Question Number : 4 Question Id : 6154758443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the average number of B — type vehicles produced by the company over the years?

(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

B1547532913. 1
61547532914, 2
61547532915 3
615475223916 4

Question Number : 5 Question Id : 6154758444 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following years was the total production of all the three types of
vehicles 600007

(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options:

61547532917, 1
61547532918, 2
61547532919, 3



E1547532920. 4

Question Id : 6154758439 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (1to5)
Cesticn Label | Comprehiension
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2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 20000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000

Sub questions

Question Number : 1 Question Id : 6154758440 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

a9 2016 & 2017 &% B 224 * dTEH1 * Seq1EA H Tohe Hiewrd =i ghg g2 7

1) 10% 2) 5%
3) 20% 4) 25%
Options:

515475232901, 1
615475323902, 2
61547532303, 3
E1547532904. 4

Question Number : 2 Question Id : 6154758441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T4 2014 | IeATEd A ST aTEA1 = TG 99 2016 § IeArted C 3T ATEAT 6 Tem w1 R ufdera are

1) ~33.33% (2) ~66.67%
(3)  50% 4) 15%

Options:



E15475325905. 1
61547532906, 2
61547532907, 3
615475323908, 4

Question Number : 3 Question Id : 6154758442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 2 (2) 4
(3) 3 4 1
Options:

B15475232909. 1
61547532910, 2
61547532911, 3
61547522912 4

Question Number : 4 Question Id : 6154758443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g ™9 391 § T 20 3eTTed B SET STEAT o6l ST TS 349 17

(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

615475229121
61547522914, 2
E1547532915. 3
E1547532916. 4

Question Number : 5 Question Id : 6154758444 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frteiad § & 579 99 991 TR & a1ad] 1 Fd Scaed 60000 o917

(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options:

E1547532917. 1
61547522918, 2
E15475329145. 3
B1547532920. 4



Sub-Section Number: 2
Sub-Section 1d: 615475371
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 6154758445 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

By selling 70 pencils for Rs.90/- a person makes a loss of 25%. How many pencils should be

sold for Rs.234 to have a profit of 30%?

(1) 95 (2) 100

(3) 105 (4) 110
Options:
51547532921,
E1547532922.
BE1547532925
61547532924

o LI

Question Number : 6 Question Id : 6154758445 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
U FEd 70 GrEe w1 90 T § 59 L 25% B 3917 2 | 30% TATH FAM o0 234 T § TR
UTer ST BRI Y

(1) 9b (2) 100
(3) 105 (4) 110
Options:

E1547532921. 1
B1547532922. 2
B1547532923. 3
61547532924, 4

Question Number : 7 Question Id : 6154758446 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In what ratio must a vendor mix two varieties of sugar worth Rs.60 per kg and Rs.78 per kg
so that by selling the mixture at Rs.76.8 per kg, the vendor gains 20%?

(1) i ) 7:2
(3) 5:3 4y 5a:2
Options:

E1547532925. 1
E1547532926. 2
B1547532927. 3
B1547532928. 4

Question Number : 7 Question Id : 6154758446 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0
U TosRdl @1 60 T Wid 7RI, R 78 ¥ uid R, gom i = 6 31 fae e o foRe egoma |
e Brm arfer 9 =9 e 1 76.80 ¥R Al @ T T W 20% A9 AMHT = HF ?

(1) 114 2y 7:2
(3) 518 1) D2
Options:

B1547532925. 1
B1547532926. 2
G1547532927. 3
61547532928, 4

Question Number : 8 Question Id : 6154758447 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which given of the following sets of letters when sequentially placed at the gaps 1n the letter
series below shall complete 1t?

bb b ab chba bebb

(1) achac (2) acbbb
(3) cbhbhba (4) abbbe
Options:

BE1547532929. 1
61547532920, 2
61547532921, 3
E1547532932. 4

Question Number : 8 Question Id : 6154758447 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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gt 31

bb b ab cbba  bebb

(1) achac (2) achbbhb
(3) chbbha (4) abbbe
Options:

615475329291
61547532920, 2
E1547532921. 3
E1547532932. 4

Question Number : 9 Question Id : 6154758448 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Out of a total of 10 students, the average weight of 9 students is 60 kg. If the weight of the
10t student is 9 kg more than the average weight of all the 10 students, then the weight of
the 10t student would be :

(1) 61 kg. (2) 69 kg.
3) 70kg. 4) Tlke.
Options:

615475329352, 1
E1547532924. 2
E1547532935. 3
51547532936, 4

Question Number : 9 Question Id : 6154758448 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
et 10 fammiear 5 & 9 faenten =1 sitas === 60 .01 2 | 3tz 10 o faen=i =1 o= adt 10 fa=nfr= =
siod 999 § 9 .. =1fa= 2, @1 109 feenefi =1 9= =

(1) 61 f&.m. (2) 69 fHm.
(3) 70 T . (4) 71tFm.
Options:

BE1547532933. 1
61547532924, 2
61547532935 3
61547532956, 4

Question Number : 10 Question Id : 6154758449 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following was not a Millennium Development Goal (MDG)?

(1) Eradicate extreme poverty and hunger
(2) Improve maternal health
(3) Ensure healthy lives and promote well being for all at all ages
(4) Ensure environmental sustainability
Options:

615475329357, 1
E1547532938. 2
B1547532939. 3
51547532940, 4

Question Number : 10 Question Id : 6154758449 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547532937, 1

61547532938, 2

61547532925, 3
61547532940, 4

Question Number : 11 Question Id : 6154758450 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Choose the person who has control over self, mode of communication and method of delivery
in class room from the following :

(1) Student (2) Teacher
(3) Audience (4) Visitor
Options:

E1547532941. 1
61547532942 2
61547532943 3
E1547532944. 4

Question Number : 11 Question Id : 6154758450 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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=0 =141 7

-
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Options:

E1547532941. 1
B1547532942 2
51547532943, 3
61547532944, 4

Question Number : 12 Question Id : 6154758451 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Select the period in which India became a centre of higher learning.

(1) Gupta Period (2) Buddha Period
(3) Mughal Period (4) British Period
Options:

61547532945 1
E1547532946. 2
E1547532947. 3
61547532948, 4

Question Number : 12 Question Id : 6154758451 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

£1547532945. 1
61547532946, 2
E1547532947. 3
B1547532948. 4

Question Number : 13 Question Id : 6154758452 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following groups has the components of paralanguage communication?

(1) Voice, Emphasis and Impression
(2) Social Space, Voice and Impression
(3) Voice, Social Space and Expression

(4) Emphasis, Social Space and Voice

Options:

61547532949, 1
61547532950 2
61547532951, 5
61547532952 4

Question Number : 13 Question Id : 6154758452 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(4) A, HTHISTR T 30 =1

Options:

61547532949, 1
61547532950 2
E15475322951. 2
61547532952 4

Question Number : 14 Question Id : 6154758453 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many National Parks and Wildlife Sancturies were there in India till March 20117

(1) 8 and 421 only (2) 10 and 75 only
(3) 75 and 421 only (4) 102 and 515 only
Options:

E1547532953. 1
B1547532954. 2
61547532955, 3
61547532956, 4

Question Number : 14 Question Id : 6154758453 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

YHE § 9 2011 9% Fhdd U9 S99 3R 97 319 A9IR0T 97

(1) a8 &R 421 (2) Had 10 31 75
(3) IS 75 W 421 (4) FaA 102 3R 515
Options:

E1547532953. 1
E1547532954. 2
E1547532955. 3
B1547532956. 4



Question Number : 15 Question Id : 6154758454 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1s signified by Udaharana of Anumiana (Inference) in

Indian Logic?

(1) Statement of reason

(2) Proposition to be proved

(3} Conclusion proved

(4) Universal proposition along with an instance
Options:

E1547532957. 1
61547532958, 2
E1547532959. 3
B1547532960. 4

Question Number : 15 Question Id : 6154758454 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) R0 =hT A
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Options:
61547532957 1
E1547532958. 2
E1547532959 3
61547532960 4

Question Number : 16 Question Id : 6154758455 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Devdatta 1z fat and he does not eat during the day. Therefore. Devadatta 1s eating during

the mght.

The above example. 1n classical Indian School of Logic. 15 a case of :

(1) Comparison (2) Implcation
(3) Perception (4) Verbal Testimony
Options:

E15475325961. 1
E1547532962. 2
B1547532963. 3
51547532964, 4

Question Number : 16 Question Id : 6154758455 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
61547532961, 1
61547532962 2
61547532963 2
1547532964 4

Question Number : 17 Question Id : 6154758456 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

As per the classical square of opposition, if ‘A’ proposition is given as true, then which one
of the following is correct?

(1) “E” proposition 1s false, “I” proposition is true and “O” proposition 1is false

(2) “E” proposition 1s true, “I” proposition is true and “O” proposition is true

(3) “E” proposition is false, “I” proposition is false and “O” proposition is true

(4) “E” proposition 1is true, “I” proposition is false and “O” proposition is false
Options:

B1547532965. 1
61547532966, 2
E1547532967. 3



E1547532968. 4

Question Number : 17 Question Id : 6154758456 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547532965, 1

61547532966, 2

61547532967, 3

61547532968, 4

Question Number : 18 Question Id : 6154758457 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following propositions is a contrary to “All poets are dreamers”?

(1) Some poets are dreamers (2) Some poets are not dreamers
(3) No poets are dreamers (4) No dreamers are poets
Options:

5154753296459, 1
61547532970, 2
61547522971, 3
E1547532972. 4

Question Number : 18 Question Id : 6154758457 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
[ [ S e B i, = L [ i = e W i I | ™ ) -
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Options:

615475329649, 1
E1547532970. 2
E1547532971. 3
B1547532972. 4

Question Number : 19 Question Id : 6154758458 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following is NOT a component of effective teaching?

(1) Questioning to check for the understanding of students
(2) Providing students with feedback

(3) Being flexible about how long it takes to learn

(4) Reactive mode of student’s behaviour
Options:
61547532973. 1
61547532974, 2
61547532975, 3
61547532976, 4

Question Number : 19 Question Id : 6154758458 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547532973, 1
61547532974 2
61547532975 2
61547532976, 4

Question Number : 20 Question Id : 6154758459 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following factors doesn’t contribute to assessment bias?

(1) When language of the test and the tester is different from the languages of the

students

(2) Answers that support middle — class values

(3) If assessment procedures are flexible and diverse to make disadvantaged students
comfortable

(4) Objective test for assessing abstract reasoning of the student.

Options:
61547532977, 1
615475324978 2



E1547532979. 3
51547532980, 4

Question Number : 20 Question Id : 6154758459 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547532977, 1
61547532978 2
615475329793 2
615475329280 4

Question Number : 21 Question Id : 6154758460 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following 1s NOT related to qualitative research?

(1) Thematic analysis (2) Case study
(3) Discourse analysis (4) Survey method
Options:

61547522951, 1
61547532982, 2
E1547532983. 3
E1547532984. 4

Question Number : 21 Question Id : 6154758460 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HTIEd § | w9 d1 TUIcA 9§ Taieq Tal & ¢
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Options:
61547532981, 1
61547532982, 2

61547532983, 3



E1547532984. 4

Question Number : 22 Question Id : 6154758461 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Social Sciences, a central issue is the question of whether the social world can be studied
using the methods of natural sciences. This statement refers to the issue of :

(1) Ontology (2) Axiology
(3) Epistemology (4) Etymology
Options:

61547522985, 1
615475329586, 2
E1547532987. 3
E1547532988. 4

Question Number : 22 Question Id : 6154758461 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547532985, 1
61547532986, 2
E1547532957. 3
61547532988, 4

Question Number : 23 Question Id : 6154758462 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following i1s not the outcome of grounded theory research?

(1) Concepts (2) Narrative
(3) Categories (4) Hypotheses
Options:

61547522959, 1
E15475329380. 2
E15475329391. 3
B15475329582. 4

Question Number : 23 Question Id : 6154758462 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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515475329859, 1
61547532930, 2
61547522931, 3
E15475329392. 4
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Question Number : 24 Question Id : 6154758463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the factors that do not contribute to the effectiveness of teaching from the options

given below :

(a)
(b)
(c)
(d)

Socio — economic background of Teacher
Teacher’s skill in pleasing the students
Teacher’s subject knowledge

Teacher’s personal contact with students

Choose the correct option :

(D)
(2)
(3)
(4)

Options:

51547532953, 1
615475329394, 2
E1547532935. 3
E1547532956. 4

Question Number : 24 Question Id : 6154758463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a), (c) R (d) 2) (b), (c) AR (d)
(3)  (a), (b) 3 (c) (4) (a), (b) 3R (d)
Options:

E15475329393. 1
E15475329584. 2
E1547532985. 3
B1547532996. 4

Question Number : 25 Question Id : 6154758464 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the alternative features from the following, which make open universities as

non-traditional universities :

(a) Innovative method of teaching and learning
(b) Innovative method of admission, curriculum and evaluation
(c) Modern communication techniques

(d) Teacher’s friendly approaches

Select the correct option :

(1) (b), (c) and (d) only
(2)  (a), (b) and (c) only
(3)  (a), (c) and (d) only
4)  (a), (b) and (d) only

Options:
61547532997, 1



E1547532998. 2
61547532955, 3
61547533000, 4

Question Number : 25 Question Id : 6154758464 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(b)  TE, TETFH HAR GeATHA * AATER] TIh
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(1) =@ (b), (c) 3W (d) (2) FA (a), (b) 3R (c)
(3) A (a), (c) R (d) (4) =FA (a), (b) IR (d)
Options:

E15475329587. 1
E1547532998. 2
B1547532999. 3
61547533000, 4

Question Number : 26 Question Id : 6154758465 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Regarding E-governance. which of the following statements 1s / are correct?

(a) Decreasing transparency 1s an ICT enabled advantage of E-Governance.

(h) E-governance 1= related to the implementation of ICT 1n the government processes and
functions.

(c) Common Service Centres (CSCs) help 1n providing and using E-Governance related
services.

Choose the correct option :

(1) (a). (b). and (c)
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a) and (b) only
Options:
61547533001,
E1547533002,
BE1547533003.
61547533004,

[ N

Question Number : 26 Question Id : 6154758465 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  (a), (b) 3R (c) (2) A (b) AKX (c)
(3)  FaH (a) HN (c) (4) FAA (a) AR (b)
Options:

515475233001, 1
61547533002, 2



E1547533003. 3
51547533004, 4

Question Number : 27 Question Id : 6154758466 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements 1s / are correct?

(a) Software 13 loaded into secondary storage from RAM and 1s then executed hy
the CPU.
(b) A search engine 1= a software svstem that 1s designed to search for information on

the www.

Choose the correct option :

(1) (a) only
(2) (b) only
(3) Both (a) and (b)

(4) Neither (a) nor (b)
Options:
61547533005, 1
61547533006, 2
61547533007, 3
61547522008, 4

Question Number : 27 Question Id : 6154758466 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547533005, 1
61547532006, 2
E15475322007. 2
61547532008, 4

Question Number : 28 Question Id : 6154758467 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below is a question followed by three statements. Identify the statements that are

necessary to answer the question.

Question : What is the percentage profit gained by a vendor when he sells an article?

Statements :
(a) He gives a 10% discount on the marked price.
(b) He would have earned 25% profit if he did not give any discount.

(c) The cost price of the article 15 Rs.8000.

Choose the correct option from those given below :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a), (b) and (c)
Options:
61547533009, 1
61547533010 2
61547533011, 2
61547532012 4

Question Number : 28 Question Id : 6154758467 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(c) FEq 1 @G HoF 8000 T F |

= T ™ e ® 9w foen g

(1) =3 (a) R (b) (2) #aa (b) 3 (c)
(3) A (a) W (c) 4) (a), (b) I (c)
Options:

61547533009, 1
61547533010, 2
61547523011, =
E1547533012. 4

Question Number : 29 Question Id : 6154758468 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements are true about a fuel cell?

(a) It is a device that uses electrochemical reactions to produce electric current
(b) It consists of a positive electrode and a negative electrode separated by an electrolyte
(c) Just like batteries 1t needs to be recharged with an electric current

Choose the correct option from those given below :

(1) (a) and (b) only
(2)  (b) and (c) only
(3) (a) and (c) only

(4) (a), (b) and (c)

Options:
6154753320131
61547533014 2



E1547533015. 3
51547533016, 4

Question Number : 29 Question Id : 6154758468 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4)  (a). (b) I (c)
Options:
615475330131
61547533014 2
61547522015 2
61547523016, 4

Question Number : 30 Question Id : 6154758469 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following statements with reference to the proposition "Some girls are not
students”

(a) Subject term students 1z distributed

(b) Predicate term girls 1s undistributed

(c) Predicate term students 1z distributed

(d) Subject term girls 1s undistributed

Choose the correct option from those given below:

(1) Only (a) and (c) are correct
(2) Only (b) and (c) are correct
(3) Only (a) and (d) are correct

(4) Only (c) and (d) are correct
Options:
615475330171
1547532018 2
£1547532019 2
61547532020 4

Question Number : 30 Question Id : 6154758469 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547533017. 1
61547533018, 2
615475330149, 3
E1547533020. 4

Question Number : 31 Question Id : 6154758470 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose two factors that do NOT affect the academic performance of students adversely :

(a) Low zelf — efficacy belief
(b) Belief in God
(c) Indifferent attitude towards politics

(d) Teacher's low expectation from students

Choose the correct option :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (c) and (d) only

(4) (b) and (d) only

Options:

61547533021, 1
61547533022 2
61547532022 2
E15475322024 4

Question Number : 31 Question Id : 6154758470 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547533021, 1
E15475332022. 2
61547522022 5
61547532024, 4

Question Number : 32 Question Id : 6154758471 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the two statements from the following statements are correct?

(a) Sampling — related error 1z subsumed under the category non-sampling error

(b} Sampling error doesn’t occur in multi-stage cluster samphng

(c) Inaccurate sampling frame and non-response are examples of sampling — related
e1Tor.

(d) There 1= an inverse relation between heterogeneity of population and samplhing error.

Choose the correct option :

(1) (a) and (c) only
(2) (a) and (d) only
(3) (b) and (d) only

(4) (b) and (c) only
Options:
£1547533025 1
61547533026, 2
E1547533027. 2
E1547533028. 4

Question Number : 32 Question Id : 6154758471 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) %99 (a) 3R (o)
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Options:

61547533025, 1
61547532026 2
E154753232027. 2
61547532028, 4

Question Number : 33 Question Id : 6154758472 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following historic places with their distingumishing discipline of learming

Last I List IT
Historic places Discipline
(a) Takshila (1) Astronomy
(b) Ujjain (1) Buddhism
() Sarnath (m) Art. Architecture and Painting
(d) Ajanta (1v) Medicine

Choose the correct option from those given below :

(1) (a)-(1). (b)-(11). (c)-(11). (d)-(1v)
(2) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)

Options:

51547533029, 1

51547533030, 2

51547533021, 3
61547533032, 4

Question Number : 33 Question Id : 6154758472 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1 @-@), (b)-GD), (0)-Gid), (d)-(iv)
@ (@-GD), (b)-Q), (0-Gv), (d)-{i)
(3 (@-@), (b)-Gv), (¢)-(1), (d)-@
@ @-w), (b)-(), (e)-(1), (d)-(iiD)

Options:

61547533029, 1
E154753220320. 2
61547522021, 5
61547532022 4

Question Number : 34 Question Id : 6154758473 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following soil orders with their descriptions

(a) Histosols (1)
(b) Andisols (1)
(c) Gelisols (111)
(d) Aridsols (1v)

Choose the correct option from those given below :

—

) (a)-(1v), (b)-Q), (c)-(11), (d)-(111)
2) (a)-(11), (b)-(iv), (¢)-(1), (d)-(111)
3) (a)-(@), (b)-(11), (c)-(111), (d)-(v)
(4) (a)-(1), (b)-(11), (c)-(1v), (d)-(i11)

Options:

61547533033, 1
61547533034 2
61547533035 2
61547532036 4

(

_—

Soil order that includes soils formed on
volcanic ash

Soil order of cold regions including
soils underlain by permafrost

Soil order consisting of soils of dry
climates

Soil order consisting of soils with a
thick upper layer of organic matter.

Question Number : 34 Question Id : 6154758473 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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(3) (a)-(1), (b)-(i1), (c)-(ii1), (d)-(iv)
(4) (a)-(1), (b)-(i1), (¢)-(iv), (d)-(111)

Options:

61547533033, 1

61547533034 2

61547533035 2

61547532036 4
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Question Number : 35 Question Id : 6154758474 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Match List — I with List - IT

List I
(Digital Initative)
(a) UMANG
(by BHIM
(c) eBiz
(d) SWAYAM

Choose the correct option :

(1) (a)-(i1), (b)-(1), (c)-(111), (d)-(av)
(2) (a)-(111), (b)-(11), (¢)-(iv), (d)-@)
(3) (a)-(v), (b)-(ii), (¢)-(1), (d)-(i1)
4) (a)-(1), (b)-(v), (c)-(11), (d)-(111)

@)
(i1)
(111)

(iv)

List II
(Purpose)
G2B Services
Learning platform
Unified payment interface

Single point of access to all

governme nt services.



Options:

61547533037, 1
61547532038 2
E15475220329 2
615475232040, 4

Question Number : 35 Question Id : 6154758474 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(i1), (b)-(1), (¢)-(ii1), (d)-(1v)
(2) (a)-(iii), (b)-(ii), (¢)-(iv), (d)-G)
(3)  (@)-v), (b)-(iid), (©)-1), (d)-()
(4) (a)-(1), (b)-(iv), (e)-(11), (d)-(111)

Options:

61547533037, 1

61547533038, 2

15475320329 2

E1547522040 4

Question Number : 36 Question Id : 6154758475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match correctly the items of Column I with the items of column II

Column I Column II
(a) Ontology (1) Ideographic
(b) Epistemology (i1) Realism
(¢) Methodolgy (111) Survey
(d) Method (1v) Positivism

Choose the correct option :

(1) (2)-(11), (b)-(iv), (c)-(11), (d)-@)
2) (2)-(11), (b)-(1), (c)-(111), (d)-(1v)
(3) (a)-(w), (b)-(1), (c)-(1), (d)-(111)
4) (a)-(11), (b)-(1v), (¢)-(@), (d)-(111)

Options:
615475320411

E1547533042. 2
E1547533043. 3
51547533044, 4

Question Number : 36 Question Id : 6154758475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FIAH - o HIAH-G] T THIAT hITAT, :

FiTH - TF FieTq - 2
(a) EETHETE (i) et
(b)  SHHEET (i) FEAEFEAER
(c) Tomelt fafer (iii) FEET
(d) T (iv) HHNICHFAER

&l fashoT T

(1) (a)-(i1), (b)-(iv), (¢)-(ii1), (d)-(1)
(2) (a)-(11), (b)-(1), (c)-(111), (d)-(iv)
(3) (a)-(1v), (b)-(11), (¢)-(), (d)-(iii)
(4) (a)-(11), (b)-(iv), (¢)-(1), (d)-(i11)
Options:

E1547533041. 1
61547533042 2



E1547533043. 3
51547533044, 4

Question Number : 37 Question Id : 6154758476 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the advantage of feedback 1n the process of communication. from the following :

(1) It 1s beneficial in understanding of the subject matter
(2) It diagnoses the defects in receiver
(3) It clarifies the communication
(4) It explores the defects in receiver
Options:

61547523045 1
61547523046, 2
E1547533047. 3
E1547533048. 4

Question Number : 37 Question Id : 6154758476 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547533045 1
61547533046, 2
61547523047, 3
E15475330458. 4

Question Number : 38 Question Id : 6154758477 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following values with their distinguishing functions :

List I List IT
(a) Sacrifice (1 Working in a stipulated time
(b)  Sincerity (11) Confinement of individual mind on
action
(c) Self control (1) Showing love and affection
(d) Altruism (iv) Helping without selfish motives

Choose the correct option from those given below :

(1) (a)-(1), (b)-(), (¢)-(iv), (d)-(111)
(2) (a)-(1v), (b)-(1), (e)-(i1), (d)-(111)

(3) )-(111), (b)-(1v), (c)-(1). (d)-(11)
4) (a)-(1), (b)-(111), (c)-(11), (d)-(1v)
Options:

E1547533045. 1
51547533050, 2
51547533051, 3
61547533052, 4

Question Number : 38 Question Id : 6154758477 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1 (2)-G), (b)-(). (c)-(v), (d)-(ii1)
(2) (a)-(iv), (b)-(1), (e)-(i1), (d)-(ii1)
(3) (a)-(iii), (b)-(iv), (¢)-(1), (d)-(i1)
(4) (a)-(1), (b)-(Gid), (¢)-(11), (d)-Av)

Options:

61547533049, 1
61547533050 2
1547532051 =2
E1547522052 4

Question Number : 39 Question Id : 6154758478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the option that lists components for a cyberspace address (URL) in the correct order
from beginning to end?

(1) Protocol, domain name of the host, path / file
(2) Path / file, protocol, domain name of the host
(3) Protocol, path /file, domain name of the host
(4) Domain name of the host, protocol, path / file

Options:

1547532053 1

1547532054, 2

61547532055 2

51547532056 4

Question Number : 39 Question Id : 6154758478 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(3) TR, MY /HEA, BES F TEA 1 A
(4) B T THA T A, WIS, TS/ EEA

Options:

61547533053, 1
61547533054 2
61547532055 2
154753232056 4

Question Number : 40 Question Id : 6154758479 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following sequence represents the correct order of soil particles arranged in
terms of particle size from the smallest to the largest?

(1) Gravel, Silt, Clay, Sand (2) Silt, Clay, Gravel, Sand
(3) Clay, Silt, Sand, Gravel (4) Silt, Clay, Sand, Gravel
Options:

E1547532057.
E1547532058.

E1547533059,
51547533080,

[ N S

Question Number : 40 Question Id : 6154758479 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fFrfafigd & o =9 @1 S99 B2 TTHRK § 52 AER & S0 & 6 I & H5 F Tale S a7
(D SIS [P: TS, \--=' |1,

[ = ™

(2) e, L, ET STe]

(3 e, T, 9w, w9

(4) T, e, sTe], S,

Options:

61547533057,
61547533058,
61547533059,
E1547532060,

[ N

Question Number : 41 Question Id : 6154758480 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the steps of research in the sequence in which they are presented in the thesis

(1) Discussion, Review of Literature, Results, Conceptual Framework, Problem

(2) Review of Literature, Problem, Conceptual Framework, Result, Discussion

(3) Problem, Review of Literature, Conceptual Framework, Results, Discussion

(4) Problem, Review of Literature, Conceptual Framework, Results, Discussion
Options:

E1547533061. 1
E1547533062. 2
61547533063, 3
61547533064, 4

Question Number : 41 Question Id : 6154758480 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

IMI-HTIE] il M- § TEqa Fd 799 6T 8 5 g0 11 2 ¢
(1)  Oi==l, |rfecd =hi TEieT, TRoTE, TFEWo =1, TEE

(2)  TEcT =hi THIETT, ST, FAGENO 1, TR, it

(3)  WHEHI, |ifecd hil FHIeT, SFTUWOT &M=, T

(4)  TEE, 9TEcd i T, FFERON =T, TEE

Options:

1547533061, 1
E15475330E82. 2
61547532062
61547532064, 4

Question Number : 42 Question Id : 6154758481 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one 1s labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Through on-line teaching a large number of students can be taught by very

competent faculty.

Reason (R) : On-line teaching helps students in developing critical thinking more than

the Off —line teaching can do.

In the light of the above two statements choose the correct option :

(1)
(2)
(3)
(4)

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true and (R) is not the correct explanation of (A)
(A) 1s true, but (R) 1s false

(A) 1s false, but (R) 1s true

515475330685, 1
61547533066, 2
61547533067, 3
E1547533068. 4

Question Number : 42 Question Id : 6154758481 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547533065, 1

61547533066, 2

1547532067, 2

61547522068, 4

Question Number : 43 Question Id : 6154758482 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements - one is labeled as Assertion (A) and the other 1s labeled as

Reason (R):
Assertion (A) : A blog is a form of social media.
Reason (R) : A blog allows anyone to communicate to a public audience.

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are ture and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) is false

4) (A) 1s false, but (R) 1s true



Options:

61547533069, 1
61547532070 2
15475322071, 2
61547532072, 4

Question Number : 43 Question Id : 6154758482 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) (A @@l & Frd (R) 7o 2 |

(4) (A) Td & TRg (R) 9= 2 |

Options:

61547533069, 1
61547533070 2
61547533071, 2
61547532072 4

Question Number : 44 Question Id : 6154758483 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Skill development is a key feature in every individual’s life.
Reason (R) : An individual who wants to get employed, needs to possess good education
only.

In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) is true
Options:
615475330731
E1547532074. 2
61547532075 2
61547533076 4

Question Number : 44 Question Id : 6154758483 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (A) 3| (R) 3H 5@l & 31 (A) =1 =& =& (R) & 17
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Options:
6154753230731

E1547533074. 2



E1547533075. 3
B1547533076. 4

Question Number : 45 Question Id : 6154758484 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Government of India established higher educational statutory bodies to

ensure quality of education.

Reason (R) : There are some educational institutions in India which do not provide

quality education.

In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true
Options:

615475330771

1547532078 2

E1547532079 2

61547532080 4

Question Number : 45 Question Id : 6154758484 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547533077, 1
61547533078, 2
61547532079 2
E15475220280. 4

Sub-Section Number: 3
Sub-Section 1d: 615475372
Question Shuffling Allowed : Yes

Question Id : 6154758485 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension



Read the following passage and answer questions which follow.

Eventhough globalisation is one of the most discussed topics in the contemporary world. it 1s
not altogether a well defined concept. A multitude of global interactions are put under the
broad heading of globalisation. varving from the expansion of cultural and scientific
influences across borders to the enlargement of economic and business relations throughout
the world. A wholesale rejection of globalisation would not only go against global business, 1t
would also cut out movements of 1deas. understanding. and knowledge that can help all the
people of the world. including the most disadvantaged members of the world population. A
comprehensive rejection of globalisation can thus be powerfully counterproductive. There 15 a
strong need to separate out the different guestions that appear merged together in the
rhetoric of the antiglobalisation protests. The globahsation of knowledge deserves a
particularly high profile recognition. despite all the good things that can be rightly said
about the importance of "Local knowledge”.

Globalisation 1s often seen. both 1n journalistic discussions and in remarkably many
academic writings. as a process of westernization. Indeed. =ome who take an upbeat niew of
the phenomenon even sees 1t as a contribution of Western civilization to the world.

Sub questions

Question Number : 46 Question Id : 6154758486 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the passage, which one of the following is not a well defined concept?
(1) Multiculturalism

(2) Identity

(3) Globalisation

(4) Local Knowledge

Options:

615475323051 1
61547532082, 2
61547532082, o
61547533054, 4

Question Number : 47 Question Id : 6154758487 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the passage, which one of the following is counter productive?
(1) Comprehensive support to globalisation

(2) Wholesale rejection of globalisation

(3) Comprehensive rejection of anti — globalisation protests

(4) Recognition of local knowledge systems

Options:



E1547533085. 1
61547533086, 2
B1547533087. 3
61547533088, 4

Question Number : 48 Question Id : 6154758488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage, globalisation i1s perceived often by media and academia as :

(1) Supporting local knowledge systems
(2) Detrimental to local knowledge systems
(3) A process of Westernisation

(4) A process of facilitating global bussiness
Options:
E1547533059 1
61547533090 2
61547533091 =
61547533032 4

Question Number : 49 Question Id : 6154758489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The attempt of the author in the passage is :

(1) Unconditioned advocacy of globalisation

(2) Unconditioned rejection of globalisation

(3) Unconditioned rejection of local knowledge systems
(4) Unbiased evaluation of globalisation

Options:

615475330383, 1
61547533034, 2
61547533035, 3
E1547533036. 4

Question Number : 50 Question Id : 6154758490 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



As per the passage, a wholesale rejection of globalisation would result in affecting

(a) Global businesses
(b) Movement of Ideas

(c) Local knowledge systems

Choose the correct answer from the options given below :

(1)  (a) and (b) only
(2)  (a) and (c) only
(3) () and (b) only
(4) (a), (b) and (c)

Options:

61547533097, 1
61547533098, 2
61547533099 2
1547532100 4

Question Id : 6154758485 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Label © Comprehension
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Sub questions

Question Number : 46 Question Id : 6154758486 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1)  Sg-"&pidars (2) TEEH
(3)  IAvEEE (4) TIEE T=

Options:

1547533081, 1
E154753232082. 2
61547532082
61547532084, 4

Question Number : 47 Question Id : 6154758487 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TEE F AN AElAlEd J | wE w2

(1) AvEFI = ==TE TEAE (2) Iy F =T 'ﬂI’]ﬁf?ﬁrﬁ

(3)  Avdimm-Tamdl TeeE # SE SRAFE  (4)  TUHE W ggiad F m
Options:

61547533085 1

E1547522086. 2

E1547533087. 3

61547533088 4

Question Number : 48 Question Id : 6154758488 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) TIEE IH TZG F1 T899 (2) TIHME TH TG F 9 FHEEE
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Options:

E1547533089. 1
61547533080, 2
61547533031, 3
E154753303%2. 4

Question Number : 49 Question Id : 6154758489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547533093, 1
61547532094 2
E1547522095 =2
61547532096, 4

Question Number : 50 Question Id : 6154758490 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4)  (a), (b) I (c)
Options:
1547532097 1
1547522098, 2
215475320959 2
15475232100 4

FART II Anthropology

Section Id : 615475114

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Pane: Yes

Group All Questions: No
Sub-Section Number: 1

Sub-Section 1d: 615475373



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154758491 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following recommended declaring “Scheduled Area” for trbal development?

(1) Kaka Kalekar Committee (2) U.N. Dhebar Commission
(3) B.P. Mandal Commission (4) B.D. Sharma Committee
Options:

61547533101, 1
61547533102 2
61547523102, 3
E1547532104. 4

Question Number : 51 Question Id : 6154758491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ffafaa 9 @ fFe Sadm T =+ o smglea em = gron # Fi wefa $

(1) =0T it BT (2) F.U9. I TN
(3)  =rdl, guser s (4) .. am affa
Options:

515475233101, 1
61547533102 2
61547523102, 3
E1547532104. 4

Question Number : 52 Question Id : 6154758492 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following can be used to display the steps or components of a process?

(1) Flow chart (2) Pie chart
(3) Histogram (4) Pictograph
Options:

E1547533105. 1
E1547533106. 2
61547533107, 3
51547533108, 4

Question Number : 52 Question Id : 6154758492 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
freterfaa 5 froe 3w el gl & 92 0 =0T =) 290§ R = g 2 7

(1) w=E =72 (Flow chart) (2) E =2 (Pie chart)
(3) ArAtE (Histogram) (4) T9o=@ (Pictograph)

Options:



E1547533105. 1
61547533106, 2
61547533107, 3
61547533108, 4

Question Number : 53 Question Id : 6154758493 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who was NOT a part of the Torres Straits expedition?

(1) A.C. Haddon (2) C.G. Seligman
(3) W.H.R. Rivers (4) A.R. Radchffe Brown
Options:

E1547533109. 1
61547533110, 2
61547533111, 2
61547533112 4

Question Number : 53 Question Id : 6154758493 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FiH ZRE F2E A S TR T A

(1)  wHi Z=H (2) Hi50. fEerss
(3)  Seo.wE.HW. fEd (4) TR, isfFETE
Options:

E1547533105. 1
E1547533110. 2
51547533111, 3
61547533112 4

Question Number : 54 Question Id : 6154758494 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Critical Ethnography refers to

(1) A holistic description of a culture including i1ts history. religion. politics. environment
ete,

(2) Studying a broadly defined culture such as the Khasis and Garos

(3) Studyving a narrowlv-defined cultural group such as the chieftains of the Konyak
Nagas

(4) A critical approach through an advocacy perspective and purpose

Options:

615475231121
E1547533114. 2
51547533115 3
51547533116, 4

Question Number : 54 Question Id : 6154758494 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

615475331131
61547533114 2
61547533115 2
1547522116 4

Question Number : 55 Question Id : 6154758495 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Sapiler-Whorf Hypothesis” 1s related to

(1) Historieal particularism (2) Structural functionalism
(3) Linguistic relativity (4) Ethnoscience
Options:

BE1547533117.1
61547533118, 2
61547533119 3
61547523120, 4

Question Number : 55 Question Id : 6154758495 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

BT —=2TF Ui HEiad 7

(1)  cfawtas fGfreaEs (2) TTEATHF-TEEARE
(3)  amTE-THE (4) TEEEREE
Options:

615475331171
61547533118, 2
61547523119, 3
E1547533120. 4

Question Number : 56 Question Id : 6154758496 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Rappaport’s book “Pigs for the Ancestors” was based on the study of

(1) Yanomamo (2) Swat Pathans
(3) Tsembaga Maring (4) EKwalkutl

Options:



E1547533121.1
61547533122 2
61547533123, 3
61547533124, 4

Question Number : 56 Question Id : 6154758496 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
torie 7 e TE R T U R eTE W T B

(1) AT (2) =Z 92
(3)  FEEeT Hi (4) FEEFEZA
Options:

51547533121, 1
61547533122 2
61547533123 3
E1547533124. 4

Question Number : 57 Question Id : 6154758497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Major focus of French Structuralism 1s on

(1) The study of human adaptation to environment
(2) The study of level of technological advancement
(3) The 1dentification of mental structures underlying social behaviour
(4) The study of political and social orgamisations
Options:

E1547533125. 1
E1547533126. 2
B1547533127. 3
61547533128, 4

Question Number : 57 Question Id : 6154758497 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547533125, 1
61547533126 2
61547533127, 2
1547532128 4



Question Number : 58 Question Id : 6154758498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following presented three types of kinship terminological system as
Malayan, Turkaman. Aryan?

(1) L.H. Morgan (2) R.H. Lowie
(3) A.L. Kroeber (4) G.P. Murdock
Options:

B1547533129. 1
61547533120, 2
61547533121, 3
61547523132 4

Question Number : 58 Question Id : 6154758498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fefaiEd § 9 e 9oeH, THaH, A9 39 1 THE F A0ER] IEaEe SOt i T A
(1)  UH.7=, Hiq (2) #AW.TH. Sl

(3) T T, FE (4) .. 7S

Options:

615475331291
61547533130, 2
61547523131, 3
E1547533132. 4

Question Number : 59 Question Id : 6154758499 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s not a disease of development?

(1) High blood pressure (2) Ihabetes
(3) Heart disease (4) AIDS
Options:

E1547533133. 1
E1547533124. 2
61547533135 3
61547533136, 4

Question Number : 59 Question Id : 6154758499 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fefeaa § § Fi9-T1 19 fa@m o gefag T8 27
(1) =TI (2) H9HE

(3) =AW 4) TEm



Options:

615475331331
1547532134 2
E1547522135 2
61547532126, 4

Question Number : 60 Question Id : 6154758500 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Fox Project was started by

(1) Sol Tax (2) Alfred Kroeber
(3) Edward Spicer (4) E.E. Evans Pritchard
Options:

51547533137, 1
61547533138, 2
61547533139, 3
61547523140, 4

Question Number : 60 Question Id : 6154758500 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T TS (5 g 3T i e df ?

() ==z (2) TERS FIE
(3) SIS T (4) 33 TaEg-TETE
Options:

E1547533137. 1
E1547533138. 2
51547533135, 3
61547533140, 4

Question Number : 61 Question Id : 6154758501 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which article in the Indian Constitution lays down that the President. by public notification
may specify the trmbes or trbal communities as Scheduled Tribes?

(1) Article 342 (2) Article 142
(3) Article 244 (4) Article 275
Options:

6154752331411
61547533142 2
61547533142 3
61547523144, 4

Question Number : 61 Question Id : 6154758501 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

YA HaaM & FH-31 FA=d AGFHaa a1 2 7 T=20id F9-A0g=a1 F g0 s=aaq 1 59 JdE
ST 1 FAEEd TG % B9 § ey = wewd 27
(1)  =9==% 342 (2) F=as 142
(3) =3 244 (4) T=32 275
Options:

E15475233141. 1
61547533142 2
61547533142 3
61547523144, 4

Question Number : 62 Question Id : 6154758502 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The concept of Anmimatism was put forward by

(1) E.B. Tylor (2) R.R. Marett
(3) E. Durkheim (4) E.E. Evans — Pritchard
Options:

5154752331451
61547533146, 2
61547523147, 3
E15475321458. 4

Question Number : 62 Question Id : 6154758502 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TUUETE 1 0T (Animatism) =1 JTET = ¢

(1) o [ -t (2) .3W. "
(3)  =3fEm (4 3. samE e
Options:

615475331451
E154753314E. 2
E1547533147. 3
51547533148, 4

Question Number : 63 Question Id : 6154758503 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The term “Economic Anthropology” was originally coined by
(1) B. Malinowsk: (2) K. Polann
(3) M.d. Herskovits (4) Ravmond Firth



Options:

561547533149, 1
1547532150 2
£1547522151. 2
61547532152 4

Question Number : 63 Question Id : 6154758503 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“anfie we fasE | wes W ge B W e e

(1) =it dieEeh (2) . T
(3) TH.S, ElEeE (4) IS B
Options:

E1547533145. 1
51547533150, 2
51547533151, 3
61547533152 4

Question Number : 64 Question Id : 6154758504 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following presented a four-fold classification of political organisation as
Egalitarian. Rank. Stratified and State?

(1) E.R. Service (2) Morton Fried
(3) Phalhip Kottak (4) Stephen Tvlor
Options:

615475231521
61547523154, 2
E1547532155. 3
E1547533156. 4

Question Number : 64 Question Id : 6154758504 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

et 3 & fFea aHifas T + IR-Gaa @ FEdETE, 9, M|id 9 759 % =9 H T
(1) =.3F. =@fg (2) T %5
(3)  Tofoms == (4) T T

Options:

£1547533152. 1
E1547533154. 2
£1547533155. 3
51547533156, 4



Question Number : 65 Question Id : 6154758505 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An 1deal key informant

(1) 15 objective and unbiased (2) 1s willing to communicate
(3) 15 knowledgeable (4) has a formal role 1n society
Options:

61547523157, 1
61547523158, 2
E1547533159. 3
E1547533160. 4

Question Number : 65 Question Id : 6154758505 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

UF 1S3 T GEAEE w6 E

(1) =g a oy (2) W % foo aer
(3) ST (4) TETS 0 SATEIE GEE AT = e
Options:

E1547533157. 1
51547533158, 2
51547533159, 3
61547533160, 4

Question Number : 66 Question Id : 6154758506 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The concept of cybernetic (feedback system) was introduced in Anthropology by the school of

(1) Ecological Functionalism (2) Cultural Materialism
(3) Historical Particularism (4) Classical Evolutionism
Options:

61547533161, 1
61547533162 2
61547523162, 3
E1547532164. 4

Question Number : 66 Question Id : 6154758506 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BE| EE:I{-H'EF";-E (Cybernetic) 3T Eal (feedback system) ‘J‘I%Hﬁ?rl T W BF4E e § e EEE

(1) TR w=RETE (Ecological Functionalism)
(2) A Aifgeam2 (Cultural Materialiam)
(3) Ul HieaEE (Historical Particularism)

(4) = faEaE (Classical Evolutionism)
Options:
15475321611
61547533162 2
1547532163 2
1547532164 4

Question Number : 67 Question Id : 6154758507 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Lod scores measure

(1) The hikelihood of inkage between genes
(2) The length of hinkage group

(3) The length of genetic distances

(4) The relatedness of two indivaduals

Options:

£1547533165. 1
E15475322166. 2
61547532167, 5
61547533168, 4

Question Number : 67 Question Id : 6154758507 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘otz #pE (Lod scores) HIYT &A1 &

(1) == = 9% TEaaa F1 O9EAT F (2) TEeT TR i TR
(3) T gl i T+ (4) =1 =ARFEAT & HaTgHT F
Options:

B1547533165. 1
61547533166, 2
61547533167, 3
61547523168, 4

Question Number : 68 Question Id : 6154758508 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The DNA finger-printing process involves

(1) RFLP (2) Degenerate oligonucleotides
(3) Chain terminators (4) VNTR loci
Options:

5154753316451
61547533170, 2
61547533171, 3
E1547533172. 4

Question Number : 68 Question Id : 6154758508 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FiuA.n, (DNA) ST 19 Tihar Ao il #

(1)  #W.vF.vAH. (RFLP)

(2) ATt fFrzzs #1 57 (Degenerate oligonucleotide)
(3) ﬁi-@ﬁ-[ IO

(4)  =.vA.8. 50, =EE (VNTR locl)

Options:

15475332169, 1
15475322170 2
61547532171,
61547532172 4

Question Number : 69 Question Id : 6154758509 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Thermostable DNA polvmerase enzyvme of Thermophilus aquaticus was reported by Saiki
et al. in 1988 from

(1) River (2) Cold spring
(3) Hot spring (4) Sea
Options:

615475231721
E1547533174. 2
E1547533175. 3
61547533176, 4

Question Number : 69 Question Id : 6154758509 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



S

STEE 15,090, U TS g5 HeE tHieEs § 1988 T T 3 4% AUE gA1 FE ° Uiaand
™ -
Y

[m}

(1) (2) 3T A F =E
(3) T WA B = (4) TmE
Options:

515475331731
61547533174, 2
61547523175 3
E1547533176. 4

Question Number : 70 Question Id : 6154758510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Multiple alleles control the inheritance of

(1) Sickle cell anaemia (2) ABO Blood groups
(3) G6PD deficiency (4) Phenylketonura
Options:

615475331771
61547533178, 2
615475331749, 3
61547523180, 4

Question Number : 70 Question Id : 6154758510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) foret o= viAEET (Sickle cell anaemia) (2)  ABO T#d-79% (Blood groups)

-

(3) 169 (G6PD) Fi Ffi (4) TrmefEEE

Options:

154753321771
E15475322178. 2
61547532179, 5
61547532180 4

Question Number : 71 Question Id : 6154758511 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

MN blood system was discovered by

(1) Weiner and Race (2) Landsteiner and Levine

(3) Landsteiner and Wiener (4) Levine and Wiener

Options:



E1547533181. 1
61547533182, 2
61547533183, 3
61547533184, 4

Question Number : 71 Question Id : 6154758511 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TH U, T -EHE TR g s T o v

(1) Hmam (2) WHUTE g wiEA
(3)  wusEIT g A (4) =i 9 =@
Options:

E1547533181. 1
E1547533182. 2
51547533183, 3
51547533184, 4

Question Number : 72 Question Id : 6154758512 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Albinizm 15 inherited as a

(1) Recessive trait (2) Dominant trait
(3) Codominant trait (4) Polygenic trait
Options:

E1547533185. 1
E1547533186. 2
B1547533187. 3
51547533188, 4

Question Number : 72 Question Id : 6154758512 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

THHe ] 6 B9 | 99IFTE 7l 2 7

(1) HTITHT T (2) TEe HAET
(3)  HE-TEd wE (4) FETAEE AR
Options:

E1547533185. 1
51547533186, 2
61547533187, 3
61547533188, 4

Question Number : 73 Question Id : 6154758513 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



With the exception of Homo sapiens. which other species had the widest distribution of any
hominid?

(1) Australopithecus (2) Homo neanderthalensis
(3) Homo erectus (4) Homo ergaster
Options:

E1547533189. 1
E15475331390. 2
51547533191, 3
615475331382, 4

Question Number : 73 Question Id : 6154758513 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
. o [ [ B b A o TN o e “ w (€ i i -
TeAFEE (Homo sapiens) & 3Gl 1904 A TqEA 7 THE1 #HIAS (Homimid) &1 59 e faaeor o @

(1)  sregeriofasg (2) Fm HuesraeEaE
(3)  F wEEE (4) ZiTt s
Options:

E1547533189. 1
E15475331390. 2
515475331391, 3
615475331382, 4

Question Number : 74 Question Id : 6154758514 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Ridge of the bone originating from the superior lateral corner of the eye orbit arching
posteriorly along the frontal 1s known as

(1) Frontal line (2) Soleal line
(3) Popliteal line (4) Temporal line
Options:

515475331931
51547533154, 2
61547533135 3
61547533196 4

Question Number : 74 Question Id : 6154758514 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T TE U Uvas ®H H Iew wiedl W 3HE (Ridge), W #0E 9 H 9@ Fi1 AR gAE 4w =

(1) =i 7@r (Frontal line) (2) @ TET (Soleal line)
(3) Ll 7@ (Popliteal line) (4) =921 7@ (Temporal line)
Options:

E1547533193. 1
E1547533194. 2
51547533185 3
61547533196, 4

Question Number : 75 Question Id : 6154758515 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Denominator for calculating General Fertility Rate 1s

(1) All females
(2) Females of reproductive age (15 — 45 year)
(3) All females of = 50 vears

(4) Mid-year population

Options:
15475321971

E15475331958. 2
51547533199, 3
51547533200, 4

Question Number : 75 Question Id : 6154758515 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HIH T34 2 i 701 % o0 21 (Denominator) #

(1) =i Al (2) ¥ AT 39 (15-45 79) F1 AT
(3) 50 99 ¥ w1t wrg it At Atz (4) #F-T9 F FHA-TF
Options:

BE1547533197. 1
615475331388, 2
615475331949 3
61547533200, 4

Question Number : 76 Question Id : 6154758516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Wheih of the following books was NOT written by J.M. Tanner?

(1) Patterns of Human Growth (21 Growth at Adolezcence
(3) Fetus into Man (4) Worldwide Varmation in Human Growth
Options:

E1547533201. 1
E1547533202. 2
E1547533203. 3
B1547533204. 4

Question Number : 76 Question Id : 6154758516 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FefeiEa % 9 FH-H 95F 9,05, 3 g g i 7 27

(1) U= =17 == 77 (2) WY UZ USieE
(3) FreE g (4) FrsarEs ANUIH 3 TgE WY
Options:

61547523201, 1
61547533202, 2
E1547533203. 3
E1547533204. 4

Question Number : 77 Question Id : 6154758517 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In finger print dermatoglyphics, “pattern intesity index” 1s

(1) 2xW+L/N (2) 2xL+WN
(3) 2x W+ AN 4 2xA+W/N
Options:

E1547533205. 1
E1547533206. 2
B1547533207. 3
61547533208, 4

Question Number : 77 Question Id : 6154758517 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

_:'._F [} E;_I_II = _-"-" 'E. ri_;: II_' LA r. [l __ Hﬁ:ﬁf_ﬁﬂ T.-."'-,' .

(1) 2x W+ L/MN (2) 2xL+WMN
(3) 2x W+ A/N 4 2xA+W/N
Options:

615475232051
61547533208, 2



E1547533207. 3
61547533208, 4

Question Number : 78 Question Id : 6154758518 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A genetically determined allergy to the broad beans resulting in severe anaemia is

(1) Alkaptonuria (2) Phenylketonurna
(3) Cretinism {(4) Favism
Options:

E1547533208. 1
E1547533210. 2
BE1547533211. 3
61547533212 4

Question Number : 78 Question Id : 6154758518 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ATFAT-Fel W BT ATTARTE Tersi 1 oy THE 99 70T (anemia) F

(1) e (2) FEmEEFREER
(3) = (4) A
Options:

E1547533209. 1
61547533210, 2
61547533211, 3
E154753321Z2. 4

Question Number : 79 Question Id : 6154758519 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Dental Comb” is a characteristic of some

(1) Anthropoid apes (2) Prosimians
(3) New World Monkeys (4) 0Old World Monkeys
Options:

615475332131
61547533214, 2
E1547533215. 3
E1547533216. 4

Question Number : 79 Question Id : 6154758519 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

515475332131
61547533214, 2
61547533215 3
E1547533216. 4

Question Number : 80 Question Id : 6154758520 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The term “Osteo — donto — keratic” was coined by

(1) Wilfrid Le Gros Clark (2) John Robinson
(3) Rayvmond Dart (4) Robert Broom
Options:

615475332171
61547533218, 2
61547533219, 3
E1547533220. 4

Question Number : 80 Question Id : 6154758520 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

s e B s B o e R ol o B

(1)  Tafews = oim T (2) A TiEEE
(3) U= =@ (4) = gH
Options:

615475332171
61547533218, 2
E1547533218. 3
E1547533220. 4

Question Number : 81 Question Id : 6154758521 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The concept of “Inclusive — Fitness” was given by

(1) W.D. Hamilton (2) Charles Darwin
(3) A.R. Wallace (4) J.M. Tanner
Options:

E1547533221. 1



B1547533222. 2
B1547533223. 3
61547533224, 4

Question Number : 81 Question Id : 6154758521 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) =931, e (2) =H =T
(3) TN, di™ (4) =.uH. I
Options:

BE1547533221. 1
B1547533222 2
61547533223 3
61547533224, 4

Question Number : 82 Question Id : 6154758522 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ethology 1s

(1) The study of ethics (2) The study of ethnic groups

(3) The study of origin of a disease (4) The study of amimal behaviour
Options:

E1547533225. 1
E1547533226. 2
B1547533227. 3
BE1547533228. 4

Question Number : 82 Question Id : 6154758522 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

== 7= (Ethology) 2

(1) fifaem= =1 S5 (2) TG TR T AT
(3) T % IOl A (4) TI-STEER W AT
Options:

515475332251
E1547533226. 2
61547533227, 3
E1547533228. 4

Question Number : 83 Question Id : 6154758523 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



On a man-made flake, which one of the following will not be seen

(1) Positive bulb of percussion (2) Negative bulb of percussion
(3) Eraillure (4) TFlake scar
Options:

BE1547533229. 1
E1547533230. 2
BE1547533221. 3
61547533232, 4

Question Number : 83 Question Id : 6154758523 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
gra-fAHT Fore § fetetad 8 5 FiF 71 5aEE T8 9s
(1) e =1 gATcAT 509 (Positive bulb)
(2) e = HIeAE wew (Negative bulb)
(3) el (Eraillure)

(4) T #d fo= (Flake scar)

Options:

61547533229, 1
61547533220 2
E1547523221. 2
61547532232 4

Question Number : 84 Question Id : 6154758524 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following sites 1s regarded as the richest among early farming cultures in the
Near East?

(1) Jericho (2) Jarmo
(3) Catal Huyuk (4) Shamidar
Options:

51547533233, 1
61547533234, 2
61547533235 3
615475332356, 4

Question Number : 84 Question Id : 6154758524 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



F-3= F [E-F GEFEA 1§ Fetanad 7 @ 8 # 5o 89 9 T\ 2 v

(1) S (2) =W
(3)  FeaA gE (4) I
Options:

E1547533233. 1
E1547533234. 2
E1547533235. 3
B1547533236. 4

Question Number : 85 Question Id : 6154758525 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to which scholar early hominins made “mental maps” of their territories?

(1) Robert Blumenschine (2) Glynn Issac
(3) L.S.B. Leakey (4) C.K. Brain
Options:

61547533237, 1
E1547533238. 2
E1547533239. 3
B1547533240. 4

Question Number : 85 Question Id : 6154758525 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o g = STER qﬁ—?ﬁirhm AT E T AEEE = S 97

(1) &2 soEEE (2) TEEE I

(3)  UH.THAE, FF (4) .. 34
Options:

BE1547533237. 1
61547533238, 2
61547533239, 3
61547533240, 4

Question Number : 86 Question Id : 6154758526 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Burin is popularly known as

(1) Borer (2) Point
(3) Pick (4) Graver
Options:

51547533241, 1



B1547533242. 2
61547533243, 3
61547533244, 4

Question Number : 86 Question Id : 6154758526 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

q0t (Burin) 29 A1 9T SE F6@1 E

(1)  =49% (Borer) (2) =@z (Point)
(3) o= (Pick) (4) = (Graver)
Options:

E1547533241. 1
E1547533242. 2
E1547533243. 3
BE1547533244. 4

Question Number : 87 Question Id : 6154758527 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Spouted bowls and pedastalled zoblets were found in

(1) Ahar (2) Gilund
(3) Kayatha (4) Navdatoh
Options:

B1547533245. 1
61547533246, 2
61547533247, 3
61547533248, 4

Question Number : 87 Question Id : 6154758527 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) AT (2) TaI=
(3) = (4) FIEEE
Options:

E1547533245. 1
B1547533246. 2
61547533247, 3
61547533248, 4

Question Number : 88 Question Id : 6154758528 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who among the following scholars stated that pre-sochan artifacts are manufactured debitage
of an early sohan industry?

(1) H. de Terra (2) H.L. Movius
(3) T.T. Paterson (4) F.E. Zeuner
Options:

61547533249 1
E1547533250. 2
E1547533251. 3
61547533252, 4

Question Number : 88 Question Id : 6154758528 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Er=iciten rr']dF' g4 o = o T a9 (pre) Oied 9Fd EdG] 9 IRT9= (early) e = 3?;.411'[ &+ e[
(debitage) ¥ s°F U 7|

(1) w=.3. 20 (2) UH.UH. HiEHE
(3) A T (4) UEI. TH
Options:

51547533249 1
61547533250, 2
61547533251, 3
61547533252 4

Question Number : 89 Question Id : 6154758529 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The first colonization of the Ganges plains took place during

(1) Palaeolithic age (2) Mes=schithic age
(3) Neolithic age (4) Iron age
Options:

615475332521
E1547533254. 2
E1547533255. 3
61547533256, 4

Question Number : 89 Question Id : 6154758529 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T HEET E TUH AT e R 91
(1) Ta-amar 1 (Palaeolithic) (2) wm=F-—gmEm 7 (Mesolithic)

(3) FF-Tmam I (Neolithic) (4) ==-7 (Iron age)

Options:



E1547533253. 1
61547533254, 2
61547533255, 3
61547533256, 4

Question Number : 90 Question Id : 6154758530 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the ancient name of the Indus Valley as mentioned in summerian scripts?

(1) Bharat (2) Dilmun
(3) Saraswatl (4) Meluhha
Opti;ns:_ o - - - -

61547533257, 1
61547533258, 2
61547533259, 3
E1547533260. 4

Question Number : 90 Question Id : 6154758530 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

m-feafy 5 Socifiga fog ardl =1 wr=i @0 =17

(1) qra (2)  TesHA
(3) A (4) HemT
Options:

61547533257, 1
E1547533258. 2
E1547533259. 3
B1547533260. 4

Question Number : 91 Question Id : 6154758531 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Contemporary ethnography includes :
(a) Objectivity 1n approach. data collection and writing process.
(h) Reflexivity on the part of the ethnographer.
(c) Collaboration and multiple authorship.

(d) Details of field work dialogue and experience.

Choose the correct option :

(1) (a). (b) and (c) (2) (a). (c) and (d)
(3) (a). (b) and (d) (4) (b). (c) and (d)
Options:

61547533261, 1
61547533262, 2



E1547533263. 3
B1547533264. 4

Question Number : 91 Question Id : 6154758531 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AHFTEE JANGE oA 4 gierfed =
(2) U AEHEAT, SIS Fhed 9 wEd T
(b) =T AT w afaeta

(€)  T=AF 9 95 oEF

(d) T TR T AT T T

el Taehey ?.j_—l ;

(1) (a). (b) 9 (c) (2) (a). ()T (d)

(3) (a). (b) = (d) (4) (b).(c)™ (d)
Options:

61547533261, 1
E1547533262. 2
E1547533263. 3
B1547533264. 4

Question Number : 92 Question Id : 6154758532 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Choose the correct answers from the following statements :

(a) All societies have economic systems, with or without money.

(b) Incentives for labour vary cross — nationally.

(c) In complex soclieties, work groups are informally orgamsed.

(d) Regulation of access to natural resources 1s a basic fact in all economic systems.

Choose the correct answer using the options given below :

(1) (a). (c) and (d) are correct (2) (a). (b) and (d) are correct
(3) (b). (c) and (d) are correct (4) (a). (b) and (c) are correct
Options:

61547533265, 1
61547533266, 2
E1547533267. 3
E1547533268. 4

Question Number : 92 Question Id : 6154758532 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TeAfetEs el 8 | 98 390 =4

(a) T T H €A 2l 2, o9 % WY 2 A 99 & =

(b) W AHEEE & 29 ° e -Tam B 2

(c)  ewl TATA H, FE-THE HTANE T H TS 4

(d) Tl TETE] AT # e e A g

Tt faweat 8 3 =8 =0 =4 -

(1)  (a). )3 (d) =71 = (2) (a). ()3 (d) =7
(3) (b). (©)™ (d) === (4) (a).(b)d (c) TAI =
Options:

E1547533265. 1
E1547533266. 2
BE1547533267. 3
B1547533268. 4

Question Number : 93 Question Id : 6154758533 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following positions are related to political power?

(a) Big woman
(b) Chieftain
(c) Nayak

(d) Leopard — skin chief

Choose the correct answer from the options given below :

(1) (a). (b) and (d) (2) (b). (c) and (d)
(3) (a). (c) and (d) (4) (a). (b) and (c)
Options:

E154753326%9. 1
B1547533270. 2
61547533271, 3
E1547533272. 4

Question Number : 93 Question Id : 6154758533 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



F=fealigd § O F9 o 92 Ta410 21 o gEred 2 7

(a) T gEa (b) =

(c) T (d) =T=-T= =
freAfefga e 5 O 78 3 94

(1) (a). (b) 7 (d) (2) (b). ()9 (d)
(3) (a). (c) 7 (d) 4) (a).(d)F (c)
Options:

E154753326%9. 1
B1547533270. 2
B1547533271. 3
B1547533272. 4

Question Number : 94 Question Id : 6154758534 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following anthropologists studied kinship svstems?

(a) Robin Fox
ib) Ulf Hannarz
(c) Dawvid Schneider

(d) G.P. Murdock

Choose the correct answer from the options given below :

(1) (a). (b) and (d) are correct (2) (b) (e) and (d) are correct
(3) {a). (b) and (c) are correct {(4) (a). (c) and (d) are correct
Options:

E1547533273. 1
E1547533274. 2
B1547533275. 3
G1547533276. 4

Question Number : 94 Question Id : 6154758534 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



foteifigs 9=a d5H 8 ° e Faen] SIae 1 ASTTT T 2 7

(a)  TeH FiFE (b) FF TS

(€  sfs == (d it mEm

FAfefEd faeal § o Hal 30 94 ¢

1) (a).®)F(d) 7= (2) (b). (03 (d) =# 7

3 (a.()T () TA= @ (a), (@3 @ T3
Options:

BE1547533273. 1
E1547533274. 2
B1547533275. 3
B1547533276. 4

Question Number : 95 Question Id : 6154758535 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following anlaysed the 1deas of Materialism?
(a) Karl Marx

(b) Marvin Harris

(c) Maurice Block

(d) J.H. Steward

Choose the correct answer from the options given below :

(1) (a). (b) and (d) are correct (2) (b). (c) and (d) are correct
(3) (a). (b) and (c) are correct (4) (a). (c) and (d) are correct
Options:

B1547533277. 1
61547533278, 2
61547533279, 3
61547533280, 4

Question Number : 95 Question Id : 6154758535 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Aifaerars = Ta=m = fAefeiEy 9 9 e fave e an?

(a) A A (b) =TfEA
(c)  HIftg =eAish (d) H.UE. wEE

frefafaa e 4 3 w8 o9 =1

()  (a.®)a(d F57 (2) ). (¢ (d) =# 2
3) (a.b)F () THH @) (a), (07 (@ = ?
Options:

615475332771
61547533278, 2
61547533279, 3
E1547533280. 4

Question Number : 96 Question Id : 6154758536 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who among the following studied culture as symbolic code?

(a) Clifford Geertz
(b) Marvin Harrs
(c) WVictor Turner

(d) Mary Douglas

Choose the correct answer from the options given below :

(1) (a). (b) and (c) are correct (2) (b), (e) and (d) are correct
(3) (a). (b) and (d) are correct (4) (a). (c) and (d) are correct
Options:

B1547533281. 1
B154753328%. 2
61547533283, 3
61547533284, 4

Question Number : 96 Question Id : 6154758536 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fAferfiad A & fe HEF 1 AR T FE F =9 4 e

(@) fFews e (b) =
() Tasm == (d) = =T=E

fefefay fapeat 5 3 75 =78 =4

1) (2. ®)T () =7 (2) (b).(0)a (d) =H 7
3) (2.3 (@ z# = 4 (a).(c)d () =7
Options:

51547533281, 1
61547533282, 2
61547533282, 3
E1547533284. 4

Question Number : 97 Question Id : 6154758537 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statements are true about post modern thinking?

(a) Anthropology 1s not a science but hermeneutics.
(b) Ethnographies so far are incomplete. and purely subjective.
(c) Scientific laws are valid.

(d) Truth 1s fundamentally beyond the reach of all humans.

Choose the correct answer from the options given below :

(1) (a). (c) and (d) are correct (2)  (b). (c) and (d) are correct
(3) (a). (b) and (d) are correct (4) (a). (b) and (c) are correct
Options:

E1547533285. 1
E1547533286. 2
B1547533287. 3
61547533288, 4

Question Number : 97 Question Id : 6154758537 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Freferfign & i a1 e s-amaf faw i 2

(a) o b O o o B ot e el e o e

(b) T AU It FF Ayl B, F UG T H fa9g v R

2 I e 3 N

(d)  Hgios &9 8 F=ms a4t o1 i 75 @ W w3

FeAteEa fFen § ° 78 3% 94 ¢

(1)  (a).(e)d(d =@ 2 (2)  (b). (0)F (d) =& &
(3) (a).()a(d) =HF (4) (a). (b)) (c) TAIE
Options:

B1547533285. 1
61547533286, 2
E1547533287. 3
61547533288, 4

Question Number : 98 Question Id : 6154758538 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are “culture — bound syndromes™?
(a) Pibloktog

(h) Amok

(c) Anorexia nervosa

(d) Schizophrema

Choose the correct option :

(1) (a). (b) and (c) (2) (b)), (c) and (d)
(3) (a), (b) and (d) (4) (a).(c) and (d)
Options:

E1547533289. 1
B1547533230. 2
B15475332591. 3
61547533252, 4

Question Number : 98 Question Id : 6154758538 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



feAfafEd 5 o #9 § T giey Hgmyg 27

.

(a) TATH- (b) THME

(¢) TG FEmET (d) TR

(1) (a), (b) T (c) (2) (b). (e)F (d)

(3) (a). (b) 7 (d) (4 (a). ()™ (d)
Options:

61547533289, 1
61547533230, 2
E15475332391. 3
E15475332392. 4

Question Number : 99 Question Id : 6154758539 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statements on Revitalization movements are correct?

(a) Theyv appear at moments of cultural stress.

(h) Thev are usually the inspiration of one person or at most a few people.
(c) Thev have anticipated and desirable consequences.

(d) They begin as unfamiliar. often heretical or cultish phenomena.

Choose the correct option :

(1) (a). (b) and (c) (2) (a). (b) and (d)
(3) (a). (c) and (d) (4) (b). {e) and (d)
Options:

6154753323921
61547533234, 2
E15475332385. 3
E15475332396. 4

Question Number : 99 Question Id : 6154758539 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TTEgH e T fefaiad Fu=1 8 9 =49 3 761 27
(a) @ AFEHE G99 & & ° T usd A

(b)  d TEAG: U TN TP SACHAT i T A 7

(¢) =¥ qEivEl 9 sfeaq Thomm = 2

(d o wfifaa 1 9= 9 79 7, s fadt @ gy gfge a2

T T =94

(1) (a), (b) =T (c) (2) (a), (b)= (d)
(3) (a). (c) 9 (d) (4) (b). (c) @ (d)
Options:

E15475332593. 1
B15475332594. 2
615475332585, 3
61547533236, 4

Question Number : 100 Question Id : 6154758540 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
During 1950s, different concepts have come out of studies in rural India. Some of the
concepts are :
(a) Rural cosmopolitanism.
(b) Dominant caste
(c) Culture of poverty.
(d) Parochialisation and universalization.

Choose the correct answer from the options given below :

(1) (a). (b) and (c) are correct (2) (a), (b) and (d) are correct
(3) (b). (c) and (d) are correct (4) (a). (c) and (d) are correct
Options:

E15475332597. 1
B1547533298. 2
B15475332599. 3
51547533200, 4

Question Number : 100 Question 1d : 6154758540 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1950 ¥ A 9A % W &E1 21 i Al T, A | T SHeT A
(a) I A (Rural cosmopolitanism)

(b)  HTE! AT

(c) fear &1 Tr

(d)  FEI—0 T ETE

ffafaa foreat @ 9 w8t 3 =9

1) (@.®)F () Fe= @) (a). ()T (d) THE

3) (.7 == @) (a). (@3 773
Options:

BE1547533297. 1
B1547533298. 2
61547533255, 3
61547533300, 4

Question Number : 101 Question Id : 6154758541 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A nucleotide 1s composed of :

(a) A base
(b) A sugar
(c) A phosphate

(d) A hipid

Choose the correct options :

(1) (a). (b). (d) (2) (a). (c). (d)

(3)  (a). (). (c) (4) (b). (c). (d)
Options:

61547523301, 1
61547533302, 2
E1547533203. 3
E1547533204. 4

Question Number : 101 Question Id ;: 6154758541 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fFa1ZEs & 741 7

(a) FTEHH (b) T H

()  HERZH @ T=fsd

o fee

(1) (a). (b). (d) (2) (a) (c). (d)

(3) (a). (b). (c) (4) (D). (e). (d)
Options:

61547523301, 1
61547533302, 2
E1547533203. 3
E1547533204. 4

Question Number : 102 Question Id : 6154758542 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following features are characteristic of albinism?

(a) Altered genes cause defect in amino acid metabolism.
(b) It 1s seen only in humans.

(c) Melanin pigment 1= absent from the skin. hair. eves.
(d) Female albinos outnumber the male albinos.

Choose the most appropriate answer from the options given below :

(1) (a) and (b) are correct (2) (a)and (c) are correct
{3) {a). (b) and (c) are correct {4) (c)and (d) are correct
Options:

£1547523305. 1
61547533308, 2
E15475332307. 3
E1547533208. 4

Question Number : 102 Question Id ;: 6154758542 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



AeteiEa 5 O F4 o S50 TaFaal i =eredaT a9 2 ¢

(a) qiatad =9 AT UES % 99T9Ed i FH] H R

(h) 7 Fa< OF4 § 7 FEE 129 7
(c) 1, 9, 3@l § 9o e T8 2 2

(d)  TIFAA AfEenEl F OEA THHAE T A

=t fou v foereal & § weg 3w foweT 9

(1) (a)a (b) TEl 7 (2) (a)d (c) Tl &
(3) (a3 (c) =E = 4) (0)d(d) T2
Options:

E1547533205. 1
B1547533206. 2
61547533207, 3
61547533308, 4

Question Number : 103 Question Id : 6154758543 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Identify the correct order of the following components which are interrelated in research :

(a) Observation

(b) Hwpothesis making
(c) Developing concept
(d) Method emploved

Choose the correct answer using options given below :

(1) (a). (d). (e). (b) (2) (a) (e), (d). (b)
(3) (a). (c). (b). (d) (4) (a). (b). (c). (d)
Options:

61547523309, 1
E1547533210. 2
E1547533211. 2
61547533212, 4

Question Number : 103 Question Id ;: 6154758543 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fAfefiga o2F =1 W9 ¥ w=wastad = # 98 %0 ° fafed w9

(a) ERIE (b)  TTEFTIAT FAT

()  HFHeTA F (d) fafa =1 5= F

e fou T fampet 4 @ TE I A

(1) (a). @. (0. (b) (2) (a). (0). (d). (b)

(3)  (a).(c), (). (d) 4) (). (). (c). (@
Options:

61547533209, 1
61547533310, 2
E1547533211. 3
E1547533212. 4

Question Number : 104 Question Id : 6154758544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following features best descrbe Homo floresiensis?

(a) Taxon was erected by Brown et al.

(b) The partial fossil sketeton dates to 16 - 18 Ka.
(c) No stone tools were found along with 1t.

(d) These fossils come from Italy.

Choose the most appropriate answer from the options given below :

(1) (a). (b) and (c) are correct {(2) (b).(c) and (d) are correct
(3) (b) and (c) are correct {(4) (a) and (b) are correct
Options:

E1547533213. 1
E1547533214. 2
61547533215 3
61547533216, 4

Question Number : 104 Question Id : 6154758544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TETETgd § 3 i ° S48 5H TR0 T aEaT g 5 B Y
(a) WIS 9 3% HEATT A ZHEE B YT R o

(b) Tl SfERE FE ad wH A 16-18 wR T o R
(c) =T T 9 % A A 9 0 Y

(d)y  F SaTes seel | 9 9

S T2u T fased O T I9gea I 9

(1)  (a). () d (c) Tl = (2)  (b). (c)F (d) TF 3
(3) (b) 4 (c) 971 2 (4) (a)d (b) TE 2
Options:

E1547533213. 1
B1547533214. 2
61547533215 3
61547533316, 4

Question Number : 105 Question Id : 6154758545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following features characterize New World Monkevs?

(a) Their natural habitat 1s Australia and America.
(b) Their teeth are alwayvs 32 in number.

(c) They are platyrrhines.

(d) Spider monkeys are the tyvpical example of them.

Choose the correct answer from the options given below :

(1) (a). (c) and (d) are correct (2) (a). (b) and (d) are correct
{(3) only (c) and (d) are correct (4) onlyv (b) and (c) are correct
Options:

E1547533217. 1
E1547533218. 2
51547533219, 3
615475332320, 4

Question Number : 105 Question 1d : 6154758545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FeATctEa @ 5 9 %4 W A9 T g1 F st il et 27
(b) T il 1 HEE w32 A
(¢) o =931 9% 91 7 B

(d) e St (spider monkeys) 3T F TAFTTF IETE 2

15 o e P B 7

(1) (a). ()T (d) =F 7 (2) (a). ()3 (d) TH 7
(3) F9 (c) 7 (d) 751 7 (4) =Fa= (b) T (c) =&l 7
Options:

615475332171
61547533218, 2
61547533319, 3
E15475332320. 4

Question Number : 106 Question Id : 6154758546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The features of Turner syndrome are :

(a) 45 Y0

(b) May have heart defects

(c) May have webbed neck

(d) May have short stature

Choose the correct answer from the codes given below :

(1) (a). (b) and (d) are correct (2) (b) (c) and (d) are correct
(3) (a). (c) and (d) are correct (4) onlyv(a)and (d) are correct
Options:

615475233211
61547533322 2
E15475335323. 3
E15475332324. 4

Question Number : 106 Question Id ;: 6154758546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



I 9319 = &80 2

(a)  45YO (b) ¥aF =M = TEAT 2
(c) F9= 4% (webbed neck) T TFal 7 (d) = FE E A
A=A Aot 8 9 =& = =

(1)  (a). ()T (d) =7 (2) (b). ()3 (d) T# 3
(3)  (a.(@a(d) =7 (4) FaE ()T (d) TH D
Options:

E15475335321. 1
B1547533322. 2
B1547533323. 3
615475332324, 4

Question Number : 107 Question 1d : 6154758547 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The features of autosomal inheritance are :

(a) Traits tend to skip generations.

(b) Traits appear in both sexes with equal frequency.

(c) Affected offsprings are usually born to unaffected parents.
(d) Unaffected persons are usually males.

Choose the correct answer from the options given below :

(1) (a). (¢) and (d) are correct (2)  (b) (c) and (d) are correct
(3) only (c) and (d) are correct {4) (a). (b) and (c) are correct
Options:

E15475335325. 1
E15475332326. 2
B1547533327. 3
61547533328, 4

Question Number : 107 Question Id : 6154758547 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SATTHMHE AAEFAT (autosomal recessive) F w&T =4 7
(a) ﬁwwﬁﬁﬁ?ﬁﬁ@ﬁﬁ%{%

(b)  Tawramd g T | @A SRl | T w7 2

(¢)  WHTEE HdH HMEIEd: FYHIEd Ji-1991 9 767 7

(d)  STHTEa = A 9 B R

Fefead faweal 4 9 981 50 =94 ¢

(1) @.@3( =73 (2)  (b). (@ F (d) =HF
(3) Faw(c)a(d) =@ = (4) (a). (b)d (c) T 7
Options:

615475333251
61547533326, 2
E1547533327. 3
61547533328, 4

Question Number : 108 Question Id : 6154758548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The characteristic features of GG6PD deficiency are :

(a) It 12 an example of pharmacogenetic disease.

() Females are more prone to suffer from this disease.
() It 15 absent 1n Indian tmbal groups.

(d) It 1= a sex-linked recessive disease.

Choose the most appropriate answer from the option given below :

(1) (a). (b) and (c) are correct (2) (a) and (d) are correct
(3) (b) and (d) are correct (4) (e) and (d) are correct
Options:

6154753332591
61547533320, 2
615475233351, 3
E15475335332. 4

Question Number : 108 Question Id : 6154758548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



[} L )

H-6-T—21 1 FH 1 TEEAF A4 7

(a) T T 1 I5TE 7
(b)  wiEens i 33 I | fifed 59 F sifuF G9E = 2
(¢)  TF URAME FAATa=l 3 TA wl

(d) 7z o geerq w99 (sex-linked recessive) T 7

freferiay faweat 4 o gad Iwga =9 ¢

(1 (a).(b)F (c) T = (2) (@3 (d) =@ =
(3) (A (d) =7 @) (©F (@ &3
Options:

E15475335329. 1
E1547533230. 2
51547533221, 3
61547533332, 4

Question Number : 109 Question Id : 6154758549 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Factors which tend to change gene frequency are

(a) Random mating
(h) Genetic drift
(c) Natural selection

(d) High altitude

Choose the correct answer from the option given below :

(1) only (b) and (c) are correct {(2) (a). (b) and (¢) are correct
(3) (b). (c) and (d) are correct {(4) (a). (c) and (d) are correct
Options:

E15475333353. 1
E15475335334. 2
E15475332335. 3
B1547533236. 4

Question Number : 109 Question Id : 6154758549 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T2 Tl SA T | 9iaa i g9 B E, J F

(a)  Tpfeas TmFm (b) AT T

(c)  UTHTaH = (@) = e (m sfeeeTs)

Fefetey fasea 8 9 =8 = =4

(1) a4 (b)d (c) TAI2 (2)  (a). b)) T (¢) TH 3

(3) (b). (¢)F (d) TF 2 (4) (a). (©)F (d) =#E 2
Options:

615475332333, 1
61547533324, 2
61547533335 3
E15475335336. 4

Question Number : 110 Question Id : 6154758550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following tools are geometric microliths?
(a) Lunates
(b) Trangles
(c) Trancets

(d) Trapezes

Choose the correct option :

(1) (a). (b) and (c) (Z2) (a). (c) and (d)
(3) (b). (c) and (d) (4) (a), (b) and (d)
Options:

E15475332337. 1
E1547533238. 2
61547533239, 3
61547533240, 4

Question Number : 110 Question Id : 6154758550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



freaferfiaa vt # & 1 o1 SR AT (geometric microliths) 27

(a) Fa=5n (Lunates) (b) T (Triangle)

(c) ::m:p: (Trancets) (d) E‘qcl_:l (Trapezes)

TE o7 =

(1) (a). (b) @ (c) (2) (a). ()9 (d)

(3) (b ©F () (4) (a). (b)= (d)
Options:

61547533357, 1
E15475335338. 2
E1547533239. 3
51547533240, 4

Question Number : 111 Question Id ;: 6154758551 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the following pioneers in the field of anthropometry in ascending order on the basis
of their contribution.

(a) Johann Friedrich Blumenbach
(h) Peter Camper

(c) P. Broca

(d) Paul Topinard

Choose the correct answer from the codes given below :

(1) (a). (b). (d). (c) (2) (a). (c). (b). (d)
(3) (c). (d), (a). (b) (4) (a). (b). (c). (d)
Options:

E15475332341. 1
B15475332342 2
61547533243, 3
61547533344, 4

Question Number : 111 Question Id : 6154758551 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
5 Ty =, = X [ % - ), B B Ty ) = B o [ i B
AT F &7 % FEfeiEg JEl (pioneers) 1 39 AEH F ATHR ARTE FHATER a2 W

(a) =M HEE wHaEE (b) iz FoR

(c) . w= (d) e 20T
FeftEs fasee 8 9 o8 = =4

(1) (a). (b). (d). (o) (2) (a). (e). (b), (d)

(3) (e). (d). (a). (b) (4) (a). (b). (c). (d)



Options:

61547533341, 1
615475333242 2
E15475323243 2
61547532244, 4

Question Number : 112 Question Id : 6154758552 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Early Neolithic farming in the Near East was hmmted to :

(a) Einkorn

(b) Barley

(c) Rice

(d) Oats

Choose the correct options :

(1) (a) and (b) (2) (a) and (c)
(3) (a) and (d) (4) (b) and (d)
Options:

615475233451
61547533346, 2
E1547533347. 3
E1547533248. 4

Question Number : 112 Question Id ;: 6154758552 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

77 === (Near East) d q_Ef—:I?F:rFTrﬂT ‘F&i Hifaa o

(a) =M (Einkorn) (b)

(c) g (d)

(1) {(a)d (b) (2) (a3 (o)

(3) (a) =T (d) (4) (b)d (d)
Options:

615475333451
E1547533346. 2
B15475332347. 3
51547533248, 4

Question Number : 113 Question 1d : 6154758553 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Primitive surgery, such as trepanning and dental surgery, 1s seen 1n which of the following
sites?

(a) Mehrgarh

(b) Burzahom

(c) Langhnaj

(d) Sangankallu

Choose the correct options :

(1) (a), (b) and (c) (2) (b). (c) and (d)
(3) (a). (c) and (d) (4) (a). (b) and (d)
Options:

E1547533349. 1
61547533350, 2
E15475335351. 3
51547533352, 4

Question Number : 113 Question Id ;: 6154758553 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

afen we Tafwe S T fUFm 9 5 wen fafwan Fefates § 9 7 &= 3 g osd 27

(a)  HEUTG (b) WEM

(c) GIGIEIE] (d) HFETHFCC]
(1) (a). (b)d {(c) (2) (b).(c)= (d)
(3) (a). (c) = (d) (4) (a).(b)= (d)
Options:

61547523349 1
E1547533350. 2
E1547533251. 3
61547533352, 4

Question Number : 114 Question Id ;: 6154758554 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following statements about Indian rock art are correct?

(a) Sites are usually covered with thick forests and close to water sources.
(b) Smoothness of the rock surface was an 1important factor.

(c) Thev are located at some height from the surrounding ground.

(d) Dwelling places were always adorned with paintings.

Choose the correct options :

(1) (a) and (c) {2y  (b)and (c)
(3) (b) and (d) {(4) (a)and (d)
Options:

515475335353, 1
61547533354, 2
£1547533355. 3
E15475335356. 4

Question Number : 114 Question Id : 6154758554 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR 3] FAT W HEnEd w94 0 O S T 99 27
(a) T T9E 94 ST A 7 /069 6 e w

() @ HETE FI YW H FT T W A 7 2

(d) Tram Tam F1 =9 foaFa § gEtEa e =e 9

(1) (a) d (c) (2) ®F (c)
(3) (b) =7 (d) 4 @7
Options:

61547533353 1
61547533354, 2
E15475335355. 3
E15475335356. 4

Question Number : 115 Question Id : 6154758555 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements about Chaleolithic in India are correct?

(a) All sites have been found on the banks of rivers or near them.
(h) Each cluster of sites appear to be colonies.
(c) There were 1dentical structures. houses and fabric pattern.

(d) It was a copper and lithic blade culture.

Choose the correct options :

(1) {a). (b) and (c) (2)  (a). (c) and (d)
(3) {a). (b)and (d) (4) (b). (c) and (d)
Options:

BE15475332357. 1
61547533358, 2
615475333549, 3
61547533360, 4

Question Number : 115 Question Id : 6154758555 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

qid H 9TH T W e FA A R H i A
(a) T e :|'|7'__|'['F;._I-'-' ¥ T =1 39 9 uE TIT'%

(by =t Tl TR wifAl o =9 § o
(c)  THET WEAT, TR 9 FASI & A7 4
(d)  TF AW 9 IO IS TEEA A

T faweT =9

(1) (a), (b) T (c) (2) (a). (e) T (d)

(3) (a). (b)= (d) (4) (b). (c)F (d)
Options:

61547533357, 1
61547533358, 2
E15475335359. 3
E1547533260. 4

Question Number : 116 Question Id ;: 6154758556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match an item in List — I with the item 1n List — IT :

List-1 List-1
(a) Kadar (1)  Plains agreculturalist
(b) Gujjar (1) Artisan
(¢) Bhumjy (m) Hunters and Gatherers
(d) Mahah (iv) Pastoralist

Choose the correct answer :

(1) (a)-(11). (b)-(1v). (€)-(1), (d)-(11)
(2) (a)-(1). (b)-(11), (c)-(111), (d)-(1v)
(3)  (a)-(iv). (b)-(iid). (e)-(i). (d)-(1)
4)  (a)-@i), (b)-(i), (e)-(iv). (d)-(1)

Options:

615475335611
61547533362, 2
61547533363 2
61547533364 4

Question Number : 116 Question Id : 6154758556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Tt-1 =1 F=1-11 T gHfET Fiiae

T=1-1 TFEI-11
(a) I 1) e TR
(b) TR (i) FHEE
(c) gmH= (iii) TFERHT F9T =@EE TTEE
(d) ¥zl (iv) AT

1) (a)-(ii). (b)-Gv), (¢)-G), (d)-(id)
(2 (@-@). (b)-(1), (c)-(11), (d)-(v)
(3) (a)-(1v). (b)-(111). (e)-(11). (d)-(1)
4 (2-(iid). (b)-(). (¢)-(v), (d)-()

Options:

61547533361, 1
61547533362 2
61547533363 2
E1547522264 4

Question Number : 117 Question Id : 6154758557 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match an item 1n List — I with the item in Last — 11 :

List-1 List-1
(a) DMLN. Srimivas (11  Phys=ical Anthropology
(b) L.P. Vidyvardh (1) Dominant Individuals
{cy S.C. Dube (1) Nature-man-spirit complex
(d) B.M. Das {iv) Sanskritization

Choose the correct answer from the options given belows :

(1) (a)-(1). (b)-(v). (c)-(111). (d)-(11)
(2) (a)-(1v). (b)-(111). (e)-(11). (d)-(1)
(3) (a)-(111). (b)-(1), (e)-(1v). (d)-(11)
(4) (a)-(11). (b)-(111). (¢)-(1). (d)-(1v)

Options:
615475335651

E1547533566. 2
E1547533367. 3
51547533368, 4

Question Number : 117 Question Id : 6154758557 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-1 1 F=-11 5 FHfem Hifaw

T=-1 T=1-11
(a) UH.TA. AfEE (i) TFFe T
(b) eI, Tagi (i) s sFsfasem
() THHL. T (i) F=R-tA-Teafe Fmrees
(@ fiom. am (Iv) TFeEs

frforaa 5 3 =71 3% 9 ¢

(1) (a)-(1). (b)-(av). (c)-(112). (d)-(11)
(2) (@)-(av). (b)-(m1). (c)-(1). (d)-(1)
(3) (a)-(m), (b)-(). (e)-(1v), (d)-(11)

(4) (a)-(1), (b)-(11), (c)-(2). (d)-(v)
Options:
61547533365 1
E1547533366. 2
BE1547533367. 3
615475333608 4

Question Number : 118 Question Id : 6154758558 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match the following item 1n List — I with Last —II :

List-I List-1
(a) Pahariva Movement (1) 1941
(b) Santhal Revolt () 1911
(¢) Bastar Uprising (m) 1855
(d) Gond and Kolam Movement (iv) 1778

Choose the correct answer from the options given below :

(1) (a)-Q). (b)-(1). (e)-(v). (d)-(111)
(2) (a)-(11). (b)-(3). (e)-(111), (d)-(1v)
(3)  (2)-(v). (b)-(m). (c)-(11), (d)-(1)
(4 (a)-(u). (b)-v). (c)-(1). (d)-(1)

Options:

61547553269, 1
615475323370 2
61547533371, 2
61547533372 4

Question Number : 118 Question Id : 6154758558 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T=i-1 =1 gHi-11 T FHfET e

T=-1 T=-11
(a) TR AR (i) 1941
(b) T fag= (i) 1911
(c) TR A== (1) 1855
(d) TIUS T FH HAEE (iv) 1778
TAoteTiEs f9eT O § el 390 (oG

(1) (2)-). (b)-(i). (e)-(1v). (d)-(111)
(2) (a)-(12). (b)-(1). (c)-(u11), (d)-(1v)
(3)  (a)-Gv). (b)-(111), (¢)-(11), (d)-(1)
(4 (a)-(n). (b)-(1v). (¢)-(1). (d)-(11)

Options:

61547533369, 1
61547532370 2
E15475323271. 2
615475323372, 4

Question Number : 119 Question Id : 6154758559 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following tvpes of ethnogrphy :

(a) Narrative ethnography (1) Turning of the ethnographic gaze
inward on the self while maintaining
the outward gaze

(b)  Auto ethnography (1) “Voice” of imformants adverbation as
they discuss what thev feel and how
theyv feel

(¢) Native ethnography (m) Voice of the ‘other through more
mnvolvement of research participants

(d) Dialogical ethnography (iv) Ethnography bv former subjects who
are now authors of studies of their
OWN group

Choose the correct answer :

(1) (a)-(1). (b)-(1v). (c)-(11). (d)-(1i1)
(2) (a)-(11). (b)-(111). {c)-(1). (d)-(1v)
(3) (a)-(111). (b)-(1). (c)-(1v). (d)-(11)
(4) (a)-(1v). (b)-(11). {c)-(111). (d)-(1)

Options:

51547533373, 1

1547533374, 2

61547533375 3
61547533376, 4

Question Number : 119 Question Id : 6154758559 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) AR T T B S e W e

STET T O T8

(b) T T4 GRERIE (i) ﬁwﬂﬂ‘fm%ﬁawmm
ﬁmﬂﬁﬁ LD 2l ETH A K 'a-uqm'

(c) =9 o fasim T O e T DR N B
() et G AR v) @ s fe e (ase) @ R g

(1) (a)-(1). (b)-(). (c)-(11), (d)-(111)
(2)  (a)-@), (b)-(111), (c)-Q). (d)-(av)
(3)  (a)-(m), (b)-(2). (e)-v), (d)-(21)
(4) (a)-(v). (b)-(11), (c)-(11), (d)-(1)

Options:

61547533373, 1

61547533374 2

61547533375 3
61547533376, 4

Question Number : 120 Question Id : 6154758560 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following item 1n List — I with item 1n Tast — 11 :

List-1 List-I
(a) Arthur Fox (1) G6PD deficiency
(b) Asbjorn Folling (1) PTC tasting ability
() A.E. Garrod (1m1) Phenylketonuria
(d) W. Cordes (1v) Alkaptonuria

Choose the correct answer :

(1) (a)-(1). (b)-(ii). (c)-(ii). (d)-(1v)
(2)  (a2)-(1D). (b)-(iid), (e)-(1v). (d)-(1)
(3) (-, (b)-(iv), (¢)-(1), (d)-(iD)
@ (@-av). (b)-). (e)-11). (d)-(11)

Options:

£1547533377. 1
E15475333278. 2
615475323379, 5
61547533380 4

Question Number : 120 Question Id : 6154758560 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



i1 =1 Hai =1 gei- 110 i 71 & @19 geier i

i~ - 11
(a) UL HEG (i)  F-6-di—=1 =i FH
(b) TS e (i) PTC = (2fe) #1 awan
() T3 s (i) THATEERE
(d) =g F=T (iv) TR

H=r o o e | wE e 9

(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)

(4) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)

Options:

61547533377,
61547533378,
61547533379,
£1547533380.

[ N N

Question Number : 121 Question Id : 6154758561 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the item in List — I with the item 1n Last — I1:

Last-1 Last-1
(a) Cystic fibrosis (1) X-linked dominant
(b) Hemophilia (1) Autosomal dominant
(c) Vitamin — D resistant rickets (1) X-linked recessive
(d) Huntington disease (1v) Autosomal recessive

Choose the correct option from those given below :

(1)  (a)-(i). (b)-(). (c)-(id), (d)-Gv)
(2)  (2)-). (b)-(). (e)-(111), (d)-(v)
(3) (a)-(1v). (b)-(1i1). (c)-(1), (d)-(11)
4 (a)-d). (b)-(iv). (e)-[1). (d)-(ii)

Options:

61547533381, 1
61547533382 2
61547533383 2
E154753223284 4

Question Number : 121 Question Id : 6154758561 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



H1-1 1 721 1 F=1-11 1 7l = o9 GHIT I

-1 Fefi-1T
(a) Taf== wEgiwy (1) X-Oe=ra T
(b)  ErHTEITT (i)  STETET THTE
(c) Taerim=—=t afaoeft feeem (i) X-Teer ST
(d) ErETeT T (iv) SAZEMe SFoHE
= fau o el B Rl faen g

(1)  (2)-(1). 0)-G). (c)-(111), (d)-(1v)
(2) (a)-(1). (b)-(11). (e)-(111), (d)-(1v)
(3)  (a)-Gv). (b)-(iii). (¢)-(), (d)-(iD)
4)  (@-w). (b)-av). (c)-Q). (d)-(11)

Options:

£15475333281. 1
61547533282 2
615475323382,
615475333584, 4

Question Number : 122 Question Id : 6154758562 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the item 1n List — I with the item 1n List — 1T :

List-1 List-I

(a) An Essay on the Principle of (1) James Hutton

Population
(b)  Principles of Geology (n) Charles Lyell
(¢} Theory of the Earth (m1) T.R. Malthus
(d) Natural History (iv) Conte de Buffon

Choose the correct option from those given below :

(1) (a)-(1). (b)-(111). (e}-(1). (d)-(1v)
(2) (a)-(111). (b)-(11). (e)-(1). (d)-(iv)
(3) (a)-(1v). (b)-(11). (e)-(111). (d)-(1)

(4) (a)-(11). (b)-(1v). (c)-(1). (d)-(111)
Options:
615475333851
61547533386, 2
61547533387 3
E15475332388. 4

Question Number : 122 Question Id : 6154758562 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g=i-1 7 41 715 wal F g -11 61 921 % @y gHiea Hin

-1 Ta-11
(a) T UH A 7§ OEees A% e (i) =" F=
(b) TofEu=E AT =T (i) =F A
(c) =al w% 7Y (i) 71290, geuE
(d) e e (iv) =2 3 S5

S fou o A femRem | wE e 9T

(1) (a)-(1). (b)-(111). (c)-(11). (d)-(1v)
(2) (a)-(111). (b)-(11). (c)-(1). (d)-(1v)
(3) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)

(4) {(a)-(11). (b)-(av). (c)-(1). (d)-(111)
Options:
51547533385, 1
61547533386, 2
61547533387 3
51547533388, 4

Question Number : 123 Question Id : 6154758563 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the fossils in List — I with the countries in which thev were first discovered in

List —1IT:
List-1 List-1
(a) Gigantopithecus (1)  France
(b) Homo floresiensis (i) South Africa
(c) Australopithecus (i11) Indonesia
(d) Dryopithecus (iv) China

Choose the correct option from those given below :

(1) (a)-(1). (b)-(11). (e)-(1v). (d)-(111)
(2) (a)-(11). (b)-(111). (c)-(1). (d)-(1v)
(3) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)

(4) (a)-(1v). (b)-(1m). (c)-(1). (d)-(1)
Options:
61547533389 1
61547533390, 2
61547533391 3
61547533392 4

Question Number : 123 Question Id : 6154758563 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T=fi-1 | fau o Sfaresi = g=-11 5 Bu v 59, 521 4 ged uset @0 T, % 5 guie i

-1 g=-10
(@) EIZIAFE i) wFE
(b) =M FEAREEE i) =fEor TR
(c) ATZAIIFE (iii) FZH
(d) SETaEEE (iv) =M

= f7u T e | w@E Ewe g

(1) (a)-(1). (b)-(11). (e)-(1vw). (d)-(111)
(2) (a)-(11). (b)-(112). (c)-(1). (d)-(1v)
(3) (a)-(11). (b)-(1). (e)-(1vw). (d)-(111)

(4) (a)-(1v). (b)-(1m). (e)-(1). (d)-(2)
Options:
51547533359, 1
61547533390, 2
61547533391, 3
51547533392, 4

Question Number : 124 Question Id : 6154758564 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the items 1n List — I with the items 1n List — II :

Last-1 Last-1
(a) Turner syndrome (1)  Mitotic non-disjunction
(b) Moszaic (1) 45X
(c) Polyplody (m) Extra chromosome set
(d) Tetrasomy (v) 2n+2

Choose the correct option from those given below :

(1) (a)-(11), (b)-(111). ()-(2). (d)-(xv)
(2) (a)-(11). (b)-(1). (c)-(111), (d)-(1v)
(3) (a)-(1v). (b)-(112). (c)-(11), (d)-(1)
(4) (a)-(1). (b)-(i11). (c)-(11). (d)-(1v)

Options:

£1547533393. 1
E154753223294 2
615475323295, o
61547533396 4

Question Number : 124 Question Id ;: 6154758564 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Tefi-1 1 751 = ge-10 i 751 % o7y gefay Hi

-1 g1-11
(@) = g () it 9 femE
(b) W= (i) 45X
(¢) Tzl (ili) AR o7 I T
(d) ZzEmE (iv) 2n+2

Hr fau fawet @ =@ fawew 9T

(1) (@-GD). (b)-(id), (¢)-@A). (d)-(iv)
(2)  (@)-Gi). (b)-@). (e)-(ii). (d)-({v)
(3)  (a)-(w). (b)-(111). (¢)-(1). (d)-(2)
@  (@)-@. b)-Gi). (¢)-(D). (d)-Gv)

Options:

£1547533393. 1
E154753223294 2
615475323295, o
61547533396 4

Question Number : 125 Question Id : 6154758565 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the following individuals with the dating methods :

(a) W.F. Libby (1)  Seriation

(b) F.Daniels (1) Dendrochronology
(cy A.E. Douglass (1) Thermoluminescence
(d) F. Petnie (iv) Radiocarbon

Choose the correct option from those given below :

(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(1v), (b)-(111). (e)-(11). (d)-(1)
(3) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)

(4) (a)-(1v), (b)-(11). (c)-(111). (d)-(1)
Options:
615475333971
61547533398 2
61547533399 2
61547522400, 4

Question Number : 125 Question Id : 6154758565 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fefetiga =afeat =1 Fe-9109 fafeat & w19 gefea i

(a) F%9.0%. &l G)
(b) TF.IFEEA (i) FEFTETE
(€ T3 T=E G S

:ﬁ?:[ ﬁp. i'—]q i q H ﬁ EI = STl | 1;].-:_-| ]\ :

(1)  (a)-(). (b)-(1i). (c)-(111), (d)-(iv)
(2) (a)-(av). (b)-(11). (c)-(1), (d)-(1)
(3) (a)-av). (b)-(1). (c)-(11). (d)-(111)

(4) (a)-(av). (b)-(1). (e)-(111). (d)-(1)

Options:

61547533397, 1
61547533398, 2
15475323299 2
E1547522400. 4

Question Number : 126 Question Id : 6154758566 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List — I with List — IT. Use the code given below :

List-1I
(a) Correlation coefficient (1)
(b) Standard deviation (11)
(c) Normal distribution (111)
(d) Heritability (1v)

Select the correct option:

(1) (a)-(111). (b)-(1). (e)-(1v). (d)-(11)
(2) (a)-(1). (b)-(11). (c)-(1m1). (d)-(1v)
(3) (a)-(1v). (b)-(1). (c)-(111). (d)-(11)
(4) (a)-(11). (b)-(11). (c)-(1). (d)-(1v)

Options:
61547532401, 1

E1547533402. 2
61547533403, 3
51547533404, 4

List-1

Quantitative measures of the strength
of the relationship between the
variables

Measure of dispersion around the
mean

Frequency  distribution that 1s
symmetrical around the mean and the
mode, mean and medium are
equivalent

Proportion of variation in a population
attributable to genotypic differences
among the individuals

Question Number : 126 Question Id : 6154758566 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



TT-1 =l F=-11 % =19 GHEd F| 5= 70 T F2 0w o

-1

(a) @E TaY TOTH

(b) HHEF TH=eH

() T Taam

(d) =mmTE (FfefEET)
(1) (a)-(111). (b)-(2). (c)-(1v). (d)-{11)
(2) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(3) (a)-(av). (b)-(1). (c)-(1m). (d)-(11)
(d) (a)-(11). (b)-(111). {c)-(1). (d)-(1v)

Options:

61547523401, 1
E1547533402. 2
E1547533403. 3
51547533404, 4

(1)
(11)

(111)

(1v)

Te1-11

=M &= % TEY I I FH AETE 9
o1%g % =% 17 T35 = 9

qEAH, AT A gren o uE 2

TH TgE O WE WH A B S

EW?TEHFI@TTEW mTcrrW T
=1 HI9F 7

Question Number : 127 Question Id ;: 6154758567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match the following List — I wath List — II. Use the code given below :

(a)
(b)

(c)
(d)

List-T

A line of direct descent

The ancient seawayv that separated

Eurasia from Africa and Asia

A line of common descent

New World Monkeys

Select the correct option:

(1)
(2)
{3)

(4)

(a)-(1v). (b)-(11). (c)-(111), (d)-(1)
(a)-(11). (b)-(111). (c)-(1). (d)-(1v)
(a)-(111). (b)-(1). (e)-(11). (d)-(1v)

(a)-(1). (b)-(11). (c)-(m1). (d)-(v)

(1)

(11)

(111)

(1v)

Last-1
Tethys

Lineage

Phylyvtic

Platyvrrhine



Options:

61547533405, 1
61547532406 2
E1547522407. 2
615475232408, 4

Question Number : 127 Question Id : 6154758567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T=i-1 1 Fe-11 = |19 goied =i | = 5 = 2 1 T =’ o

-1 T -11
(a) HIET-FIEEEE T (i) 2=

(b) W TEE W W SR S WRG W (@) dvmadl (SiHes)

FiTE H g A

(c) THF-TIUEREE gl .
(d) g w (iv) wAEA

(1) (a)-(1v). (b)-(11). (e)-(111), (d)-(1)
(2) (a)-(11). (b)-(111). (c)-(1). (d)-(a1v)
(3) (a)-(11). (b)-(1). (e)-(11). (d)-{1v)
(4) (a)-(1). (b)-(11). (e)-(11). (d)-(1v)

Options:

61547533405, 1
61547533406, 2
61547533407, 2
1547532408 4

Question Number : 128 Question 1d : 6154758568 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the correct sequence of Purusharthas among the following :

(1) Moksha, Dharma. Kama, Artha (2) Dharma. Artha, Kama, Moksha
(3) Artha, Dharma, Moksha, Kama (4) Kama, Moksha, Dharma. Artha
Options:

61547523409, 1
E1547533410. 2
51547533411, 3
61547533412, 4



Question Number : 128 Question Id : 6154758568 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fafafigs @ & e & @ %8 Fi mae Fifao

(1) =&, g9, M, 519 (2) =H, 24, =, qE
(3) W, ud, HiE, H (4) =W, g8, g9, AY
Options:

515475233405, 1
61547533410, 2
61547523411, =
E1547533412. 4

Question Number : 129 Question Id : 6154758569 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following sites with the archaeclogists who are assoclated with them :

{a) Combe Grenal (1) Dorothy Garrod
(b) Wadi an Natuf (11) Francois Bordes
(e) Jarmo (111) Ian Hodder

(d) Catal Huvuk (1v) Kathleen Eenvon

Choose the correct option from those given below :
(1) (a)-(11). (b)-(111). {e)-(1v). (d)-(1)
(2) (a)-(111). (b)-(v). (e)-(1). (d)-(11)
(3) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(4) (a)-(111). (b)-(11). (e)-(1), (d)-(1v)

Options:

61547533413, 1
61547533414 2
61547532415 =2
1547522416 4

Question Number : 129 Question Id : 6154758569 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ety T =it 39 T Teg [AcaaTa % =1y gHfes i

sk @) <rish e
) Ve (i) i e
o (i) A FE
e Gv) S =

3 i faeat @ o 9fm

(1) (a)-(). (b)-(11), (e)-(1v). (d)-(1)
(2) (a)-(111), (b)-(1v). (c)-(1). (d)-(11)
(3)  (a)-(i. (b)-(). (¢)-(iv). (d)-(11D)
4)  (a)-(m), (b)-(11). (¢)-(2), (d)-(iv)

Options:

615475334131
E15475223414 2
61547522415, 5
61547532416 4

Question Number : 130 Question Id : 6154758570 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify the correct sequence 1n evolutionary order :
(1) Hunting — Pastoralism — Agriculure — Horticulture
(2) Hunting — Pastoralism — Horticulture — Agriculure
(3) Agrculure — Horticulture — Pastoralism — Hunting
(4) Pastoralism — Hunting — Horticulture — Agrculure

Options:

61547533417, 1

61547533418 2

61547533419 3
61547523420, 4

Question Number : 130 Question Id : 6154758570 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) @z - JeEE - HH - aerEE (2) @ - YIEN - SFEET - H
(3) U - SFEE ~ TYERT - HEE (4) TUENY - AT - SFEET - H
Options:

E1547533417. 1
E1547533418. 2
E15475334145. 3
B1547533420. 4

Question Number : 131 Question Id ;: 6154758571 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

French Social Scientist Pierre Bourdieu analysed the following types of capital :

(a) Cultural Capital
(b) Knowledge Capital
(c) Social Capital

(d) Symbolic Capital

Choose the correct answer from the options given below :

(1) (a). (b) and (c) are correct (2) (b)), (c) and (d) are correct
(3) (a). (c) and (d) are correct (4) (a). (b) and (d) are correct
Options:

51547533421, 1
61547533422 2
61547533423 3
E1547533424. 4

Question Number : 131 Question Id : 6154758571 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) T THI (b) FH T
(c)  HTHETH I (d) eTRTHF ol

i1 fou faeTt & = S g

(1)  (a). (b) 317 (c) HFI = (2) (b, (c) i (d) T &
(3)  (a).(c) ¥R (d) 7 = @) (a). (b) 37 (d) TH 3
Options:

E1547533421. 1
B1547533422. 2
B1547533423. 3
61547533424, 4

Question Number : 132 Question 1d : 6154758572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the correct sequence of Evans Pritchard’s studies in ascending chronology :

(1) Nuer — Azande — Sansu1 (2) Sansu — Azande — Nuer
(3) Sansul — Nuer — Azande (4) Azande — Sansul — Nuer
Options:

515475334251
61547533426, 2
E1547533427. 3
E1547533428. 4

Question Number : 132 Question Id : 6154758572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g_“':lir’l rlg‘. "':I:: T-F- -:!']E"'I":I:l- ?mﬁ.l -dl:”]‘. rf‘ ":fll':; "J-'I”qﬂi 'CI.-.'E! - ..illr_}:![]l 2

(1)  T% - TS - AR (2) TE - THS - g
(3)  FWEE - 997 - TeE (4) UHE - AEEE - I
Options:

E1547533425. 1
B1547533426. 2
B1547533427. 3
61547533428, 4

Question Number : 133 Question 1d : 6154758573 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the correct sequence of the major racial classifications of the mankind in the
ascending order 1n which they were proposed :
(1) Hooton — Garn — Blumenbach — Deniker
(2) Blumenbach — Deniker — Hooton — Garn
(3) Blumenbach — Hooton — Garn — Denmiker
(4) Blumenbach — Garn — Hooton — Deniker
Options:
61547533429 1
61547532450 2

51547533421, 3
61547533432, 4

Question Number : 133 Question 1d : 6154758573 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A F T T S w6, 3 AiEd (60 S % SAE FAEE, Ha w6 i TEEe i

(1) 729 - TH - =5as - = (2) =IHES - SHE - 72T - TH
(3)  wAEAEE — 72A - TH - SHH (4) s - TH - 72d ~ S
Options:

615475334291
61547533430, 2
E1547533421. 3
E1547533432. 4

Question Number : 134 Question Id : 6154758574 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the correct sequence of the following fossils in the order of their first discovery :

(1) Java man — Neanderthal man — Australopithecus — Peking man
(2) Peking man — Java man — Neanderthal man — Australopithecus
(3) Australopithecus — Java man — Neanderthal man — Peking man
(4) Neanderthal man — Java man — Australopithecus — Peking man
Options:

E1547533423. 1
615475334234, 2
51547533435 3
E1547533436. 4

Question Number : 134 Question Id : 6154758574 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A=At Sfaedl =, S0 U9 Wi % FHEEE, HE %9 0 YR i

(1) == 99 - Frsie 9hg - SAEEiiaEd - ditT qed
(2) it grE - S aEg - Fsste ae - AR
(3)  HANZANNEERE — SE IHd - HATSIEE 7H - 1 9
(4) T 9EE - A O - ARSAN g — 9 T

Options:

£1547533433 1
E1547523434 2
61547532425
61547532426 4

Question Number : 135 Question Id : 6154758575 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the correct sequence of steps involved 1n malking a research design :
(1) Selection of research topic — Hypothesis — Review of hiterature — Data collection

(2) Selection of research topic — Review of literature — Hypothesis — Data collection

(3) Hypothesis — Selection of research topic — Data collection — Review of hiterature
(4) Hyvpothesis — Review of literature — Data collection — Selection of research topic
Options:

61547533437, 1
61547523438, 2
E1547533439. 3
E1547533440. 4

Question Number : 135 Question Id ;: 6154758575 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Trg-ATHT 994 § GfAfed =200 % "8l %A i Tear i

(1) =g &g =1 =999 - TEReuHT — Hiieed THIET - ATl TUET
(2) Iy favE F 9= - AiEc gHIET - TS — SRS HUET

(3)  UTHFRCUAT - I AT 1 SEA - TS GUE - HiEcd THIE

(4) TFFT — HEcd THIET - SIS 5Um — Y f&ama #1599

Options:
61547533437, 1
61547533438 2



E1547533439. 3
51547533440, 4

Question Number : 136 Question Id ;: 6154758576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Identify the correct sequence of land marks on mid-sagittal plane of the skull anterio —

posteriorly :

(1) Prosthion — Nasion — Glabella — Bregma — Lambda — Opisthocranion
(2) Opisthocranion — Lambda — Bregma — Glabella — Prosthion — Nasion
(3) Prosthion — Glabella — Nasion — Bregma — Lambda — Opisthocranion
(4) Opisthocranion — Bregma — Lambda — Glabella — Nasion — Prosthion

Options:
£1547533441. 1

E1547533442. 2
E1547533443. 3
51547533444, 4

Question Number : 136 Question Id ;: 6154758576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TSl & FHTE-T9 i AR T T2 Wi & ASHERE @ Hel 3 i TaEE i

(1)  SfeEA - 95T - e — ST — JFeel — STIeashEE

(2) SR AT — oimEel — 7T — Teiel — Jfegag - A

(3) i - e - A - ST - e — SN A

(4) SIEAHAAT — 5TH — S=E] — TAEe] — S - 9
Options:
15475324411
E1547532442 2
C1547533443 2
61547532444 4

Question Number : 137 Question Id : 6154758577 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following sequence of arrangments of sites, according to their occupation, from

oldest to youngest 1s correct?
(1) Attirampakkam — Tilwara — Nevasa — Daojah Hading
(2) Attirampakkam — Nevasa — Tilwara — Daojali Hading
(3) Nevasa — Tilwara — Attirampakkam — Daocjali Hading
(4) Attirampakkam — Nevasa — Daocjalh Hading — Tilwara
Options:
1547533445 1
61547533446 2

61547533447, 3
615475334458, 4

Question Number : 137 Question Id : 6154758577 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
=AM F AR TH T A0 T il sGEd F Feiengd § T FE °9 FE e 2

(1) stcmussn — faeamE - 99 - e 2T

r - : - i o
(2) SAfTETEFT - A9 - TaearsT - el 2

(3) A - faeare - aftogusEs - et 2=
(4) ATHYFET — J94T — ST 25 — e
Options:

£1547533445. 1
E154753344E. 2
E1547533447. 3
51547533448, 4

Question Number : 138 Question Id : 6154758578 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the following tools 1n their correct order of appearance from oldest to youngest :

(1) Acheulian hand axe — Audi knife — Microburin — Chisel
(2) Acheulian hand axe — Microburin — Audi knife — Chisel
(3) Acheulian hand axe — Microburin — Chisel — Audi knife

(4) Audi knife — Acheulian hand axe — Microburin — Chisel

Options:



E15475334459. 1
61547533450, 2
51547533451, 3
61547533452, 4

Question Number : 138 Question Id : 6154758578 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1)  voIfeH Fsueg - SS90 - AEwEE - 2]
(2) U FSUSE - HISEERA - SS9 - oAl

(4)  ATSI ATF - TAEEA FSUH - WISEEE - Bl

Options:

£1547533449. 1
E1547522450 2
61547532451, 5
61547533452 4

Question Number : 139 Question Id ;: 6154758579 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one 1s labeled as Assertion (A) and the other as Reason (R).

Based on the statement choose the correct answer :

Assertion (A) : Substantivism was introduced to explain the differences 1n socio-economic

relationship among simpler societies.

Reason (R) : Substantivism describes various substances found in the nature.

Choose the correct ansser from the options given below :
(1) (A) 18 correct and (R) 1s wrong

(2) (R) 18 correct and (A) 1s wrong

(3) Both (A) and (R) are correct

(4) Both (A) and (R) are wrong

Options:
61547533453, 1
61547533454 2



E1547533455. 3
51547533456, 4

Question Number : 139 Question Id ;: 6154758579 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
H= 31 FUA 20 0 F, UF w1 ANEEH (A) AT g F a6 (R) FA A 2| S FOA F SEW W OHE I
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Options:

61547533453, 1
61547532454 2
61547533455 =
61547533456 4

Question Number : 140 Question Id : 6154758580 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(Given below are two statements. one 1s labeled as Assertion (A) and the other as Reason (R).

Based on the statement choose the correct answer :

Asszertion (A): A Philosophy for "WEFA” recommends a model of tribal development by

keeping the tribals 1n Isolation.

Eeason (R) : This 1dea was proposed by Govt. of India.

Choose the correct answer from the options given below :
(1) (A) 1s correct and (R) 1s wrong

(2) (R) 1s correct and (A) 1= wrong

(3) Both (A) and (R) are correct

(4) Both (A) and (R) are wrong
Options:
154753234571
£1547532458. 2
E1547532459 2
61547532460, 4

Question Number : 140 Question Id : 6154758580 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(4) (A) 377 (R) =M1 T4 7
Options:

61547533457 1
E1547523458. 2
E1547533459 3
61547533460 4

Sub-Section Number: 2
Sub-Section Id: 615475374
Question Shuffling Allowed : Yes

Question Id : 6154758581 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension



Read the passage below and answer the questions that follow :

Most of the comparative research on the relationship between economic development and
political participation has been cross national. comparing data on different countries. Some
countries are more democratic than others. on the basis of such characteristics as contested
elections. an elected head of state. an elected powerful legislature. and the protection of civil
liberties. In capitalist countries. more democracy 18 generally associated with higher levels of
economic development, as measured by indicators such as per capita output. In countres
that are not very industrialized there 1z little democracy at the national level. Why should
more democracy be associated with more economic development? The prevailing opinion 1s
that economic development increases the degree of social eguality in the countryv: and the
more equality among interest groups. the more they demand participation in the political
process, and hence more democracy. Or. to put this theory another wayv, as the economy
develops. the more the middle and working classes can demand rewards and power. and

therefore the less power the elite can retain.

What about the societies usually studied by anthropolegists? We know that some of the
highest levels of political participation occur in the least complex societies, such as foraging
socleties. Many adults in such societies have a 2av in the political decisions and leadership 1s
informal. Leaders can retain their roles only if people voluntarily go along with them.
Concentrated power and less political participation are more likely in chiefdoms and states
than in band and trbal societies. The more hewrarchical chiefdoms and societies usually
depend on agriculture. which can produce more goods and services per capita than foraging
economics can. So the relationship between economic development and political participation
1n the cross-cultural studies 1s opposite to what we find cross — nationally.

Sub questions

Question Number : 141 Question Id : 6154758582 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s the characteristic of more democratic countries?

(1) An elected head of state (2) A nominated head of state
(3) A head of state based on inheritance (4) The country without a head of state

Options:

61547533461, 1
615475323462 2
61547522462 5
61547532464, 4

Question Number : 142 Question Id : 6154758583 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In cross national studies researchers have found positive correlation between

(1) Economic development and political participation

(2) Economic development and political non-participation

(3) Economic recession and political participation

(4) Economic recession and political non-participation
Options:

E1547533465. 1
E1547533466. 2
B1547533467. 3
61547533468, 4

Question Number : 143 Question 1d : 6154758584 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Economic development increases the degree of

(1) Social equality (2) Social inequality
(3) Social differentiation (4) Social stratification
Options:

51547533465 1
61547533470, 2
61547533471, 3
E1547533472. 4

Question Number : 144 Question Id : 6154758585 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Among band and tribe levels of political orgamisation and less economic development has
led to

(1) More political participation
(2) Less political participation

(3) There 1= no change in the political participation
(4) Cannot be ascertained on the basis of passage
Options:

E1547533473. 1
E1547533474. 2
61547533475 3
61547533476, 4

Question Number : 145 Question 1d : 6154758586 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In studving economic develepment and political participation. anthropologists find that
cross — national and cross — cultural data are

(1) Similar (2) Opposite
(3) Incomparahble (4) TUnascertainable
Options:

B1547533477. 1
61547533478, 2
61547533479, 3
615475234580, 4

Question Id : 6154758581 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 141 Question Id : 6154758582 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frfatas § @ F9 ot favmm fas S o9 # a2 7

(1) =% A1 530 =9 F1 ghg (2) T T UF TG gHgA
(3) =9 W ATIIG =T g (4) ToT giEEn 1 59
Options:

E1547533461. 1
B1547533462. 2
51547533463, 3



E1547533464. 4

Question Number : 142 Question Id : 6154758583 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fafim <o = 75 § A 4 5 s H Geheds geeeEy T E

(1) e fare 3 Teas arfEr (2) ST T 3 THITEE T AriEr
(8) e Wl A TR SriEH (4) =ATeR HE) = TSI T e
Options:

£1547533465. 1
E154753346E6. 2
E1547533467. 3
E1547533468. 4

Question Number : 143 Question Id ;: 6154758584 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

r [ i o, ™ o o
-ﬁmi [=hTH THT] ahHr-i EAR: G IR

(1)  ZmEfa A (2) HHEITAF AFHHA
(3)  HmE faugE (4) TEITEF T
Options:

E154753346%9. 1
61547533470 2
61547533471, 3
E154753347Z2. 4

Question Number : 144 Question Id : 6154758585 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ZIel @ TS o 05 TAIAE O34 d e S o o uiom 2
(1) ATt TEATaE griEr
(2) 9= TS 9EiEn
{3;' e na.ﬁﬁ'_.élé rr\r .__F:p[
(4) =@ T d@ Afvad =9 9 99 J@ A1 g
Options:
E1E47522472 1
1547522474 2

61547533475 3
61547533476, 4

Question Number : 145 Question Id : 6154758586 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

A T 3 TeHIGF qFEE & AST94 °, A9 S 9 F T A T 3 b aesae s

(1) ©F" (2) TarmE
(3) AT (4) #HfT=Ea
Options:

E1547533477. 1
E1547533478. 2
B1547533479. 3
61547533480, 4

Sub-Section Number: 3
Sub-Section Id: 615475375
Question Shuffling Allowed : Yes

Question Id : 6154758587 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension

Read the passage below and answer the questions that follows :

So much 1= known about molecular genetics that it 1= now possible to alter individual genes
and even whole organisms in very precise wavs. The revolution occurred very quickly after
the structure of DNA was first identified 1n 1953 by James Watson and Francis Crck.
Particular genetic traits could then be linked to particular sequences of DNA messages. In
the 1970s. the development of recombinant DINA techniques allowed researchers to sphice
pieces of DNA from one organism into the DNA of another. in precise locations. Researchers
learned how to make copies by putting these “recombined” strands into host orgamisms such
as bacteria. which reproduce by cloming. The applications of these technigues are potentially
enormous. Biotechnology companies are already doing genetic engineering to manufacture
medicines (such as insulin and a vaccine against hepatitis B) and to produce more desirable
plant and animal products (e.g.. a strain of tomato that can be shipped when 1t's ripe without
spoiling). Thev are also working on how to reintroduce altered cell into organisms to fix
genetic defects. As of now. about 4.000 human disorders are known to be caused by defects 1n
a few genes: theoreticallv. they should be fixable some day by genetic engineering. As more
becomes known about the precise location of genes and the DNA sequences that convey

particulars information. much more engineering will be possible.

Already some 1magine that genetic therapv will eventually cure various cancers and heart
dizeaszes.

Sub questions

Question Number : 146 Question Id : 6154758588 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Who 1dentified the structure of DNA?

(1) James Watson and Francis Crick (2) Avery
(3) Mendel (4) Gnffith
Options:

£1547533481. 1
61547533482, 2
E1547533483. 3
B1547533484. 4

Question Number : 147 Question Id ;: 6154758589 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which technigue 1s used for manufacturing insulin?

(1) PCR (2) DNA sequencing
(3) Recombinant DNA technique (4) FISH
Options:

51547533485, 1
61547533486, 2
61547533487, 3
61547523488, 4

Question Number : 148 Question Id : 6154758590 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many disorders are know to be caused by defects in a few genes?

(1) About 25,000 (2)  About 20,000
(3) About 10,000 (4) About 4.000
Options:

515475334859, 1
615475334380, 2
61547533431, 3
615475334392, 4

Question Number : 149 Question Id : 6154758591 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Why much more genetic engineering 1s now possible?

(1) Due to knowledge of Karvotyping

(2) Due to knowledge of DNA sequences

(3) Due to knowledge of Southern Blotting technique

(4) Due to knowledge of Northern Blotting technigue
Options:
61547533493, 1
61547533494 2
61547532495 =2
615475334596, 4

Question Number : 150 Question Id : 6154758592 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which dizeases are expected to be cured in future through genetic therapy?

(1) Neurological disorders
(2) Various cancers and heart diseases
(3) Skin diseases

(4) Osteoarthritis

Options:

61547533497, 1
61547533498, 2
61547533499 2
61547532500 4

Question Id : 6154758587 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH
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Sub questions

Question Number : 146 Question Id : 6154758588 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

F.oa.v, i grEa i uEEE e A

(1) =55 9EEd a9 FieE (2) w=l
(3) == (4) TarEY
Options:

E1547533481. 1
61547533482, 2
61547533483, 3
61547523454, 4

Question Number : 147 Question Id : 6154758589 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

=gfed = fmm 8 %0 9 a3 F1 = e A R e
(1)  diHLHR. (2) SLUAT, FFwAH FET (HE )
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Options:
61547533485, 1



E1547533486. 2
B1547533487. 3
51547533488, 4

Question Number : 148 Question 1d : 6154758590 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

F3 T H T F FE R T Jm R e

(1) =aT 25,000 (2) =9 20.000
(3) =4 10,000 (4) =797 4.000
Options:

£154753345%9. 1
E15475334580. 2
E15475334391. 3
B1547533452. 4

Question Number : 149 Question Id ;: 6154758591 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
st SEte SaateT o9 = 7y 27
(1)  FAEENT % 79 % Fa0

(2)  BLUAT FH % FAE F R

(3) HEA &A1 dFATF = T = B

(4) 19 wATST AFATE & FE H FAO

Options:

61547553493, 1
61547532494 2
61547533495 =
61547533496 4

Question Number : 150 Question Id : 6154758592 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) e g=dl S (SRR Sess)
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Options:

61547533497, 1
61547533498, 2
61547532499 =2
E1547523500. 4



